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��� -6�� '��#�-�  *� -6�� � .,��@$-=� $�6�'��-� $�� ��-#'�"� .�-6�.�-$���� . )���� �.,� =�)� $�

�� � �=� �'��  *-��� � +�'��)� 4=� �� ��'��� �#.4�'�  *� +�'$�4���2� � '� $��-����"� $�� -6�� �-#)=�  *
, ,#��-$ ��)=��.$���A�� *-���)����A$-6�. )����* '��-'#�-#'�)�, ,#��-$ ���$��A6$�6�$�)$+$)#���
�'�������$*$�)�'���')$���-6�$'����"��$%�"���-$+$-=� '�� ��-$ �"���)�-6$���-'#�-#'$��� *�-6��, ,#��-$ �
���)��- �6$�6�)$.���$ �����=�-�.�2����.��=�$��-�����"�-6��)=��.$��� *�-6���=�-�.�$��� �-' ���)
4=�,' �������A6 ���-$.����������'��+�'=�)$**�'��-�*' .����6� -6�'2����'���-$ ��-��6�$B#���-�C�
�)+��-���� *�-6$���$-#�-$ ��- �4#$�)���� A�)$.���$ ����'�)#��)��=�-�.�*' .�A6$�6�4�6�+$ '�A�
�����,,' @$.�-��-6��)=��.$��� *�-6��� .,��@� '$�$�����=�-�.2

��� -6$�� A 'C� A�� �@-��)� ���'���-$ �� -��6�$B#��� - � -6�� �����  *� -$.�� )�,��)��-� )$��'�-�
, ,#��-$ ��. )����A$-6�-A �-$.���������A6�'��4 -6�-6��*��-���)�-6���� A�,' ��������'����� A�)
- ��6������-�-6�$'� A���6�'��-�'$�-$��-$.�������"�����'��$%$���-6��'��#�-�� *�,'�+$ #���-#)$��2���
,' , ������ ���#- � . #��. )���A$-6�-A �-$.��������"�� ��-'#�-�������'���-�)�. )�����)��$+�
'���-$ ��6$,��4�-A���� -6��+�'$�4����� +�'�$��� -6�� '$�$���� ��)� -6�� '�)#��)� �=�-�.�2������� 
�@,� '��6 A�-6��,' ,�'-$��� *��-' �����)�A��C��'� )$�$-="�'���')$���-6����,��$-=� *�-6���=�-�.
- �* '��-�$�$-$���� �)$-$ ��"� *�-6�� '$�$�����=�-�.�����4���-#)$�)�$��-�'.�� *�-6��'�)#��)��=�-�.2

D�E�
��	���,,' @$.�-�����'���-$ �"�, ,#��-$ ��)=��.$��"�-$.��������"��-' ��
�'� )$�$-="�A��C��'� )$�$-=2
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�������� �
�	��2� 3&::!7"� $��A6$�6� -6�� '��)�'����� *$�)���)�-�$��)��@, �$-$ �� *� -6�
�$.�� ��)� �� ,��  *� ���'���-$ �� -��6�$B#��"� A�� )�+�� ,�)� �� -��6�$B#�� * '� -6�
���'���-$ �� *�����#- � . #�� �$���'�)$��'�-���=�-�.�$�+ �+$��� -A �,' ������� -�C$��
,����� �-� )$**�'��-� -$.�� ������2� ��� �#�6� �� � �-�@-� A��  4-�$��)� �� � A�'� )$.���$ ���
�=�-�.�-6�-�A�������)�F���'���-�)G���)�$-�A����6 A��6 A������-$���$�* '.�-$ �� ��-6�
4�6�+$ '� *�-6�� '$�$�����=�-�.�� #�)�4�� 4-�$��)�4=��-#)=$���-6��'�)#��)��=�-�.2

�6$�� ��� �)� ,�'-� )�����A$-6� -6�� '�)#�-$ ��  *� -6��. )��� ,' , ��)� $�� -6�� �4 +��
.��-$ ��)� A 'C� - � )���� A$-6� -6�� ����� $�� A6$�6� -6�� ,�'�.�-�'��  *� -6�� . )��� �'�
*#��-$ ���  *� -$.�2� �'�+$ #��A 'C�� )���$���A$-6� -6�� ���'���-$ �� *� � ���#- � . #�
)$��'�-��. )����3	��%���)��'�+ �)�������''�"�!??0"�&::!7��6  ������-6��-$.���-�,�* '
-6��. )���-6�� ���� ''��, �)$���- �-6���� A�,' �������)����#.��-6�-"�)#'$������6� *
-6���� -$.�� �-�,�"� -6�� *��-� ,' ����� ��-�� �� 6$�6� �#.4�'�  *� -$.��2� � A�+�'"� -6�
�6�'��-�'$�-$���)�*$�$���-6��*��-�,' �����A�'���#,, ��)�- �4��� ��-��-�$�����6�-$.���-�,
 *� -6��. )��2� ��� #'�A 'C"� -6�-� '��-'$�-$ �� $�� '�. +�)���)�A��)����A$-6� -6������'��
�����$��A6$�6�-6��*��-�,' ����������6������-�$-�� A��-$.�������"� ��=�'�B#$'$���-6�-�-6�
*��-�)=��.$���-��)�- �����B#$�$4'$#.2

�6�'���'��)$**�'��-��,,' ��6���- �-6���-#)=� *�� ���#- � . #��. )����)�,��)$��
 �� -6�� C$�)�  *� ��+$' �.��-��� +�'$�-$ �� * '� -6�� �=�-�.2����A$��� * �#��  �� -A � �#�6
-=,���  *� +�'$�-$ �2� ��� -6�� *$'�-� ,����"� ��-� #�� � �-�.,��-�� -6�� ����� $�� A6$�6� -6�
��+$' �.��-"� -6 #�6� �6���$���A$-6� -$.�"� -��)�� - ���� �B#$�$4'$#.2�� )����A$-6� -6$�
,' ,�'-=�*'�B#��-�=��@6$4$-� -6��,' ,�'-=������)��-' ����'� )$�$-="� $2�2"� -6���-'#�-#'�� *
-6�� , ,#��-$ �� +��- '� -��)�� ��=.,- -$����=� - � �� *$@�)� +��- '� $�)�,��)��-�  *� $�$-$��
� �)$-$ ���3
 6��"�!?1?�72����-6�������$��A6$�6�-6�'��$��� ��,��$*$��,�--�'�� *�+�'$�-$ �
* '� -6�� ��+$' �.��-"� A�� 6�+�� -6�-� #�)�'� +�'=� ����'��� ���#.,-$ ��"� -6�� �=�-�.� $�
A��C�=� �'� )$�"� $2�2"� -6�� �-'#�-#'��  *� -6�� , ,#��-$ �� �-'#�-#'�"� ��-6 #�6� $-� .�=� � -
� �+�'��"�$-�) ���4�� .��$�)�,��)��-� *�$�$-$���� �)$-$ ��2

���	��-$ ��&�A���@-��)�-6�����'���-$ ��.�-6 )�)�+�� ,�)�$������� �
�	��2�3&::!7�- 
-6�� �����A6�'�� -6��  '$�$���� �=�-�.� $�� � ���#- � . #�2� �6�� ���'���-$ �� ,' ��)#'�
� ��$�-��  *� -A � �-������ *$'�-�A�� ���#.�� -6�-� -6�� *��-� )=��.$��� '���6� �B#$�$4'$#.� $�
���6� -$.�� �-�,� � ''��, �)$��� - � -6�� �� A� ,' ����H� 6����"�A��  4-�$�� ��� F�#@$�$�'=G
�=�-�.�A6$�6� ���� 4�� � ��$)�'�)� ��� ��� �,,' @$.�-$ ��  *� -6��  '$�$���� �=�-�.2� �6$�
�#@$�$�'=��=�-�.�$���6 A��- �4��'�)#�)��-�$��-6��������-6�-�$-�����4��'�)#��)�- ���� A�'
)$.���$ �������'���-�)��=�-�."�-6��)=��.$��� *�A6$�6�$��� +�'��)�4=���'�)#��)���-� *
� ������)�F�� 4���+�'$�4���G2

	��-$ ��(� '���-��� -6��, ,#��-$ ��+��- '�� ''��, �)$��� - � -6�� '$�$���� �=�-�.�A$-6
-6�-� � ''��, �)$��� - � -6�� ���'���-�)� �=�-�."� �6 A$��� -6�-�A�� ���� �,,' @$.�-�� -6�
* '.�'� $�� -�'.��  *� -6�� ��--�'2� � �� 4'$�*� �#..�'=�  *� -6�� -6� '=�  *� � ���#- � . #�
�=�-�.�"�)�-�$�$���-6��)$**�'��-�C$�)�� *���+$' �.��-���+�'$�-$ ����)�-6��� ''��, �)$��
4�6�+$ '�-6�-�-6 ���,�--�'��� *�+�'$�-$ ��$�)#��� ��-6���=�-�.�$��$���#)�)�$��	��-$ ��>2

�6�� '���-$ ��6$,�� 4�-A���� -6�� ,' ,�'-=�  *� �-' ��� �'� )$�$-=� * '� -6�� ���'���-�)
�=�-�.� ��)� * '� -6��  '$�$���� �=�-�.� $�� -6�� �����  *� ��� ��+$' �.��-� -��)$��� - � ��
�B#$�$4'$#.� �'�� �@,� '�)� $�� 	��-$ ��<2� ��� 	��-$ ��;"� A�� ��''=�  #-� -6�� �-#)=�  *� -6�
'���-$ ��6$,�� *�-6��A��C��'� )$�$-=� *�-6�� '$�$������)�-6��'�)#��)��=�-�.�#�)�'�+�'=
����'������#.,-$ ��� ��-6��-=,�� *���+$' �.��-���+�'$�-$ �2

���	��-$ ��1�-6��-6� '�-$����'��#�-���'���,,�$�)�- �-6�����'���-$ �� *���.#�-$'��$ ���
� ���#- � . #�� . )��� $�� A6$�6� .$�'�-$ �� $�� �#,, ��)� - � 4�� *��-� A$-6� '��,��-� - 
)�. �'�,6=2��6���-#)=� *�-6��A��C��'� )$�$-=� *�-6��.#�-$'��$ ����. )���$��-�'.�� *
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-6�� '�)#��)� �=�-�.� $�� ��''$�)�  #-�A$-6� �� �$.,��� �@�.,��2� �$����="� � .�� �#.�'$���
�$.#��-$ ���6�+��4����,�'* '.�)�- �$��#�-'�-��-6��-6� '�-$����'��#�-�2
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��� � ��$)�'� �� , ,#��-$ �� �����$*$�)� $�- � '� �' #,�2� ��� �))$-$ �"� ���6� �' #,
��I�!"222"'�$���#4)$+$)�)�$�- �(���#4�' #,�2����)�*$��� xt

i j, ����-6���#.4�'� *�$�)$+$)#���
$��-6��)�-6��#4�' #,� *�-6����-6��' #,��-�-$.�� �2��6�'�* '�"�-6��, ,#��-$ ��$��)���'$4�)
4=�-6��* �� A$���� �#.��+��- '� *��-�-��+�'$�4���"���� ������)�.$�' +�'$�4���"

x x x x x x xt t t
N

t t
N

t
q

t
q N Tq= ( , ..., , , ..., , ..., , ..., ), , , , , ,1 1 1 2 1 2 11 2 �∈��( 3!7

A6�'��(�I�(!J⋅⋅⋅J('�3-6���#,�'��'$,-���)�� -���-'���, �$-$ �72
��� -6�� �+ �#-$ ��  *� -6�� , ,#��-$ �� A�� A$��� � ��$)�'� -A � ,' ������� A6 ��

� ''��, �)$����6�'��-�'$�-$�� -$.��������"���)�� ���B#��-�=� -6�$'�,' K��-$ �� $�-�'+���"
�'��+�'=�)$**�'��-�*' .����6� -6�'2����A$���'�*�'�- �-6�.������ A���)�*��-�)=��.$��2

���A$����6  ������ -6��,' K��-$ ��$�-�'+��� *� #'�. )��"� -6�� ���� ''��, �)$���- 
-6���� A�)=��.$��2���6$��.�����-6�-�-6��-$.�����,��)�4�-A����-$.�������)���J�!�$��-6�
-$.��$�-�'+��� ��A6$�6�-6���� A�,' �������-�2

���A$���.�C�� � � �,��$��� ���#.,-$ ��� '���')$��� -6�� �6�'��-�'$�-$���  *� -6�� �� A
)=��.$��2��6#�"�* '�����'-�$��*$@�)�,' K��-$ ��$�-�'+���*��I�L�"��J�!7"�-6���� A�)=��.$��
A$���4��'�,'����-�)�4=���� ������-$+��,' K��-$ ��.�-'$@����∈��(×(�A6$�6�A��� ��$)�'
)$+$)�)�$�- �4� �C�� Mt

ij "�!�M��")�M�'2����-6���6�+�

��

M

M M M

M M M

M M M

t

t t t
q

t t t
q

t
q

t
q

t
qq

=





















11 12 1

21 22 2

1 2

...

...

...

� � � �

A6�'�����6�4� �C� M M tt
ij

ij
ml= [ ( )]�6���)$.���$ ���(��×�()���)��6�'��-�'$%���-6��'�-��� *

-'���*�''$��� $�)$+$)#���� *' .� -6���#4�' #,�� *��' #,�)� - � -6 ���  *� �' #,� �� �-� -$.�� �2
� '���,��$*$����="�* '����6���I�!"&"222"(����)����6���I�!"&"222"	()"� M tij

ml ( ) �'�,'����-��-6�

'�-�� *�-'���*�''$���$�)$+$)#���"�)#��- �-6���� A�,' ����"�*' .��#4�' #,��� *��' #,�)�- 
�#4�' #,��� *��' #,����-�-$.���2

	$���� -6�� ,' K��-$ �� $�-�'+���  *� -6��. )��� $�� -6�-�  *� -6�� �� A� ,' ����"� A�� A$��
���#.��-6�-"� $�����6�,' K��-$ ��$�-�'+��"� -6��*��-�,' �������-��+� -$.���4�* '��-6���� A
,' ����� ) ��"�A6�'�� +� $�� ��� $�-���'� -6�-� ����4�� $�-�','�-�)���� -6�� '�-$ �4�-A���� -6�
,' K��-$ �� $�-�'+���� � ''��, �)$��� - � -6�� �� A� ��)� *��-� )=��.$��2� �6�'�* '�"� $*�A�
)�� -�� 4=�∆�� -6�� -$.�� �-�,�  *� -6�� *��-� ,' ����"� A�� ���� � ��$)�'� -6�-� $�-�'+��� *�� $�
)$+$)�)�$�- �+��#4$�-�'+���� *�-6��* '.�*�"��I�L��J�3����!7�∆�"���J��∆�7H����I�!"222"+2

��� #'�. )��"�-6��,�'�.�-�'�� *�-6��*��-�,' ������'����� A�)�- ��6�����A$-6����6� *
-6��,' K��-$ ��$�-�'+����*�"�2����A$���)�� -��4=� P Rt l

i N Ni i
, ∈ × �-6��.�-'$@�)�-�'.$�$���-6�

-'���*�''$��� *�$�)$+$)#�����. ���-6���#4�' #,��A$-6$���' #,���)#'$���-6��-$.��$�-�'+��
*�"�2

���.�C��-6��* �� A$���-6'������#.,-$ ��� ��-6��*��-�,' �����
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�7��-�$��$�-�'����* '����6��' #,"�$2�2"�$-����� -�-'���*�'�$�)$+$)#����4�-A����)$**�'��-
�' #,�2

�7��-�$��� ���'+�-$+��A$-6�'��,��-�- �-6���#.4�'� *�$�)$+$)#���2
�' .��=, -6���������)���A��6�+��-6�-�-6��*��-�)=��.$���* '�-6��A6 ���, ,#��-$ �

)#'$���$�-�'+���*�"��$��'�,'����-�)�4=���.�-'$@�

P diag P Pt l t l t l
q

, , ,: { , ..., }= 1 2 3&7

A6�'�����6�4� �C� Pt l
i
, �$����� �#.���- �6��-$��.�-'$@"�$2�2"���.�-'$@�A6 ���� �#.����'�

,' 4�4$�$-=�+��- '�2

7� � '� ���6� �"� -6�� ,�'�.�-�'��  *� -6�� *��-� )=��.$��� )#'$��� $�-�'+��� *�� -��)� - 

� ��-��-�+��#��"�$2�2"�* '����6�����)����6��"�-6����B#�����N Pt l
i
, O�-��)�"�A6�����→�∞"�- ��

��'-�$�� 3�������'$�=� �- �6��-$�7�.�-'$@� Pt
i 2� ��� �))$-$ ��A�� �#,, ���.�-'$@� Pt

i � - � 4�
,'$.$-$+�2

�=, -6��$��
7�$.,�$���-6�-�-6���6�'��-�'$�-$��� *�-6��*��-�,' �����$�����6�*�� -��)�- 
����B#$�$4'$#.�'�,'����-�)�4=�.�-'$@

P P diag P Pt
l

t l t t
q: lim { ,..., },= =

→∞

1 3(7

��)� $�� �����-$��� * '�  #'� ���'���-$ �� ,' ��)#'�� $�� -6�� ������ -6�-"� ��� A�� A$��� ���"
�#�'��-����-6�-�-6��*��-�)=��.$���-��)�- �����B#$�$4'$#.�$�����6�*�2

�6���+ �#-$ �� *�-6��, ,#��-$ ��$��)�-�'.$��)�4=�-6��* �� A$���)$��'�-���=�-�.�-6�-
A��A$��������F.$�' �=�-�.G� '�F '$�$�����=�-�.G�

x M P P xt t t k t t+ = ⋅ ⋅ ⋅1 1, , 2 3>7

���,'�+$ #��A 'C��3	��%���)��'�+ �)�������''�"�!??0"�&::!7"�-6���#-6 '��6�+��)���-
A$-6�-6��'�)#�-$ �� *�-6��* �� A$���. )���

x M P xt t t
k

t+ =1 3<7

A6$�6� $�� �� ,�'-$�#��'� �����  *� 3>7�A6��� -6�� �6�'��-�'$�-$���  *� -6�� *��-� )=��.$��� �'�
� ��-��-�A$-6$�����6�*�"�$2�2"� P P Pt k t t, ,= ⋅ ⋅ ⋅ = =1 2

��� ')�'�- ���''=� #-�-6�����'���-$ �� *�. )���3>7�A��A$����,,' @$.�-��$-�4=���� 
�����)� F�#@$�$�'=� �=�-�.G� -6�-� $�� �#���,-$4��� - � 4�$��� ,�'*��-�=� ���'���-�)"� $2�2"�  *
4�$���'�)#��)�- ����$.,��'��=�-�.�A$-6 #-�-6�����)�- �.�C����=��,,' @$.�-$ �2�� �) 
� �A��A$���.�C��#��� *�-6��* �� A$���,' , �$-$ �"��@-'��-�)�*' .������ �
�	��2�3&::!72

 ��,�������	-

&
�	.%�/	�
	�	�
'�
��
	�
	������	����������	������
�	����	���$
��
�	��	�	,������$


�����0	 %1	 &
�	 $	 �
	 ��
	 �����	 ,����������	 ����
�	 
��
�$
����	 �
	 %	 ��������
�	 2���


��
�$���
	-1	��
�

lim
l

lA A
→∞

⋅⋅ ⋅ =1 $�
�

2�
�
	 ��I�3!"!"P"!7�1	 ��
�

��
3	 
��	 ���	 �������	 ���������3	 �	 ,�,�������	 2���

��������	��	��������
�	��	��
	�
'�
��
	.%�/	2���	����,���������	�
���	��	
'���������

������������	�
	��
	����$������	�����	��
	����
�	��$
�	��	$
����	$1

��-�#��� A�� ��$)�'"�* '����6�����)��"�-6��,' 4�4$�$-=�� '.�)��$���+��- '� vt
i � *� Pt

i

��� �$�-�)�A$-6��$���+��#��!2��' .��' , �$-$ ��!�+��- '� vt
i �����4��$�-�','�-�)�$��-�'.�



���������	
������
������
���
���	 !?

 *� -6��*��-�)=��.$��� *��' #,� �� $��$�-�'+���*�� $�� -6��* �� A$���A�=����-�#��� ��$)�'��
6=, -6�-$�����$-#�-$ ��$��A6$�6�-6���=�-�.�$��� +�'��)�4=�-6��*��-�,' ������@��#�$+��=2
	#,, ��"� . '� +�'"� -6�-� *�� $�� � ��� �� #�6� A$-6� '��,��-� - � -6�� ,' K��-$ �� $�-�'+��
� ''��, �)$���- �-6��*��-�,' �����* '�-6$��- �'���6�$-���B#$�$4'$#.�� �)$-$ ���)#'$���*�2
�6��"�* '���=�F$�$-$���� �)$-$ �G� *�-6���=�-�.��-�-$.���"�-6���-'#�-#'�� *�-6��, ,#��-$ �
 *��' #,����-�-6����)� *�*��A #�)�4��)�*$��)�4=� vt

i 2
���)�*$���.�-'$���

V diag v v U diagt t t
q

N Nq
: { ,..., }; : { ,..., }= =1 1 1

1
 

*' .�A6$�6�A��$..�)$�-��=�6�+�

PV Vt t t= 2 3;7

��-�#��$�-' )#���-6��� ������)�F�#@$�$�'=��=�-�.G

X M P Xt t t t+ =1 317

A6�'�

P P Pt
k

t k t: lim , ,= ⋅ ⋅ ⋅
→∞ 12 307

��C$���#��� *��' , �$-$ ��!� �����6�4� �C�A��6�+�� P VUt t
T= 2

�6���#@$�$�'=��=�-�.�����-6�'�* '��4��$�-�','�-�)����-6���$.$-� *�-6�� '$�$�����=�-�.
A6���+�→�∞"� $2�2"� ��� -6�� '$�$���� �=�-�.�#�)�'� -6�� ���#.,-$ �� -6�-� -6�� $�-�'+��� *�� $�
� ����� #�6�A$-6�'��,��-�- �-6��,' K��-$ ��$�-�'+��� *�*��-�,' �����* '�-6$��- �'���6�$-�
�B#$�$4'$#.2�� -$���-6��#��� *���,$-�����--�'��- �)�� -��-6��+�'$�4������� �$�-�)�A$-6�-6�
�#@$�$�'=��=�-�.2

���A$����6 A�-6�-�-6���#@$�$�'=��=�-�.�����4��,�'*��-�=����'���-�)2���� ')�'�- �) 
� "�A��)�*$���-6��+��- '� *��� 4���+�'$�4���

y y yt t t
q= ( , ..., )1 3?7

A6�'�

y X Xt
i

t
i

t
i Ni= + ⋅ ⋅ ⋅ +, ,1 "

$2�2"� yt
i �'�,'����-��-6��- -����#.4�'� *�$�)$+$)#����$���' #,����-�-$.�������#.$���-6�-�-6�

*��-�)=��.$��� '���6��� $-���B#$�$4'$#.�*'�B#���$��� $�����6� $�-�'+��� *�2�� -�� -6�-� -6���
�� 4���+�'$�4��������4�� 4-�$��)�*' .�-6��+�'$�4���� *�-6���#@$�$�'=��=�-�.�4=

y U Xt
T

t= 2 3!:7

�'�.#�-$,�=$���4=�4�� ��4 -6��$)��� *�317�A�� 4-�$�

U X U M P X U M VU XT
t

T
t t t

T
t t

T
t+ = =1 "

A6$�6�����4���@,'����)����* �� A��

y M yt t t+ =1 " 3!!7

A6�'��A��6�+��)�� -�)

M U M Vt
T

t t= 2

��� -6�� ���'���-�)� �=�-�."� ���6� �' #,� $�� '�,'����-�)� 4=�  ��� �$����� +�'$�4��2
�6�'�* '�"�A��6�+��'�)#��)�-6��)$.���$ �� *�-6��. )���*' .�(�I�(!�J�⋅⋅⋅�J�('�- �'2���



&: ���	

���	%&2

-6����@-����-$ ���A��A$�������6 A�-6$����A��$.,��'��=�-�.�,' +$)���$�* '.�-$ �� ��-6�
)=��.$��� *�-6��, ,#��-$ ��'�,'����-�)�$��-6�� '$�$�����=�-�.2

�6��* �� A$�����..�"�A6$�6�$�����-'�$�6-* 'A�')�� ���B#����� *�-6��)�*$�$-$ �� *
Mt ���)�-6��*��-� *�+��- '�� vt

i ���)� 1Ni
�4�$���, �$-$+��* '���������)��"���� A��#��- �'���-�

-6���-'#�-#'�� *�.�-'$���� Mt ���)� Mt 2

&
���	�

���	���	�3	 Mt 	��	�	�����
����$
	�����0	��	2����	��
	
�
�
��	�
	��2	�	���	������	)

��	����!
��	�
	���	����	�
	�����0	 Mt
ij 	��	���	!
��1

� -�� *' .� -6$�� ���-� '��#�-� -6�-� -6�� ,�--�'��  *� � ��%�' � ���.��-�� $�� Mt � � $��$)��

A$-6�-6��,�--�'�� *�� ��%�' �4� �C�� Mt
ij �* '�-6���� A�)=��.$��2

(2�������
�	��������������
�
��������	����
��
������������	

�������-6�� '$�$�����=�-�.�3>7

x M P P xt t t k t t+ = ⋅ ⋅ ⋅1 1, , "

��)�-6���#@$�$�'=��=�-�.�317

X M P Xt t t t+ =1 "

A6�'�� Pt �$�

P P P VUt
k

t k t t
T= ⋅ ⋅ ⋅ =

→∞
lim , ,1 2

�6��+�'$�4���� *�-6���#@$�$�'=��=�-�.�����4�� 4-�$��)�-6' #�6�-6��C� A��)��� *�-6�
�� 4���+�'$�4���2���)��)"

X M P M P M P X M VU M V U M V U X

M V M M y M V y

t t t t t t t
T

t t
T T

t t t t t t

= ⋅ ⋅ ⋅ = ⋅ ⋅ ⋅

⋅ ⋅ ⋅ =
− − − −

− −

1 1 1 1 0 1 1 1 1 0

1 1 0 1    =  .
3!&7

�6����@-�,' , �$-$ ���6 A��-6�-"�* '�*$@�)��"�-6���-�-��+�'$�4����0��� ''��, �)$���- �-6�
 '$�$�����=�-�.�����4���,,' @$.�-�)�4=�+��- '���5����-2�����))$-$ �"�$*�-6��� �+�'�����
 *�.�-'$���� �3+�- � ��$��F�� .�-'$�G"�-6���-6��)$�-�����4�-A����-6���,,' @$.�-$ ����)
0��)���=����� ��� .�-'$����=2

 ��,�������	6

�7	��$
�	 ���	 �������	 ���������	 0�	 ���	 ���	 
�0
�	 $���
	 
��	 �3	 ��
	 ���������	 �
	 ��


��������	���	��
	����
���
�	����
��	$
��
�

lim
k

t t t tx M V y
→∞ −= 1

�7	 ���
�$
�3	 �
�	 ��	 �����
	 ����	 �	8	α 	8	-	 
0����	 ����	 ����3	 
��	 ���	 �3
P P o kt k t

k
, ( );− = → ∞α  1	 ��
�3	 δ	 
0����	 2���	 α 	8	δ	8	-	 ����	 ����3	 
��	 ���	 �������

���������	0�	���	���	
�0
�	$���
	�
	�3	��
	���������	�
	��
	��������	���	��
	����
���
�

$
��
�

x M V y o kt t t t
k= + → ∞−1 ( );δ  2



���������	
������
������
���
���	 &!

 ���


��-�#�� *$'�-�,' +��472��=�3!&7�����A��6�+�� - ��6 A�$�� -6�-�δ� �@$�-��A$-6�α	M�δ�M�!
�#�6�-6�-

x X ot t
k= + ( )δ 3!(7

* '���������)���=�$�$-$���� �)$-$ ��0:2
���-6��,'  *�A��A$���.�C��#��� *�-6��* �� A$���-6� '�."�,' +�)�4=�-6���#-6 '��$�

����� �
�	��2�3&::!7�
��
��
�	*

��-�N9+O�4������B#����� *�� �#.���- �6��-$��.�-'$����-6�-�� �+�'���- ���,'$.$-$+�
.�-'$@�9���)���-

Q Q Q Q
k

k k: lim= ⋅ ⋅ ⋅
→∞ −1 1

��-� #�� �#,, ��� -6�-� :�M�α�M�!� �@$�-�� �#�6� -6�-� 9+�Q�9�I� 3α+72� �6��� δ� �@$�-�
+�'$*=$���α	M�δ�M�!��#�6�-6�-�Q Q Q ok

k⋅ ⋅ ⋅ − =1 ( )δ 2
���A$���,' ���)�4=�$�)#�-$ �2����6�+��-6�-

x M P P x M P o x M P x o X ok
k k k

1 1 1 1 1 0 1 1 0 1 1 0 1= ⋅ ⋅ ⋅ = + = + = +, , ( ( )) ( ) ( ),δ δ δ

A6�'��A�� 6�+�� �,,�$�)� �' , �$-$ ��307� ��)��6� '�.��� $�� -6�� ��� �)� �B#��$-=2�� A
���#.��3!(7�6 �)���-�-$.���2��6���A��6�+�

|| || ||

||

|| ||

|| ||

, ,

, , , ,

, ,

,

x X M P P x M P X

M P P x M P P X

M P P X M P X

M P

t t t t k t t t t t

t t k t t t t k t t

t t k t t t t t

t t

+ +− = ⋅ ⋅ ⋅ −

≤ ⋅ ⋅ ⋅ − ⋅ ⋅ ⋅ +

⋅ ⋅ ⋅ −

≤

1 1 1

1 1

1

  ||

                         ||

                             

                         ||  kk t t t

t t k t t t
k

P x X

M P P P X o

⋅ ⋅ ⋅ − +

⋅ ⋅ ⋅ − =

,

, ,

|| || ||

|| || || || || || ( )

1

1

 

                                 δ

��� A�� '�B#$'�)2� ��� -6�� ���-� �B#��$-=� A�� 6�+�� #��)� -6�� $�)#�-$ �� 6=, -6��$�� ��)
�6� '�.��2

�6��,'  *� *� �7� $�� �4� �#-��=� ���� � #�� - � -6�-�  *�47�.�C$���δ�I�!���)��,,�=$��
3072�

	 �*�'�A��6�+���@,� '�)�-6��'���-$ ��6$,��4�-A����-6�� '$�$������)�-6�����'���-�)
�=�-�.��* '����$+���+��#�� *�-$.�2�� A�A��A$���)����A$-6�� .��'���-$ ��6$,��4�-A���
-6����=.,- -$��4�6�+$ '� *�4 -6��=�-�.�2����4��$��4=�'�+$�A$���� .������'���*��-�
�4 #-�� ���#- � . #���$���'�)$��'�-���=�-�.��$��	��-$ ��>2

>2�	
����
��
	�
���
�����
�
�
�	����������	
����
	E	���	

��-�#��� ��$)�'�-6��* �� A$����=�-�.

!�J!�I�%�!� 3!>7

A6�'��%��∈��(×(2��*�A��)�*$���#��I�%��!%��&⋅⋅⋅%!%:�-6��

!��I�#�!:

���-6����B#���A��A$���)�� -��4=�RR�S�RR�-6��!�� '.�$���("�$2�2"��$+���!�I�3!!"�!&"�222�"!(7�

-6���RR�!�RR�I�R�!!�R�J�R�!&�RJ�222�J�R�!(�R2



&& ���	

���	%&2

�*� A�� �'�� . )���$��� -6�� )=��.$���  *� �� �-�����-'#�-#'�)� , ,#��-$ �"� !�� $�� -6�
, ,#��-$ ��+��- '� �-� -$.�� �"� -6�� - -���, ,#��-$ �� $���$+���4=� RR�!��RR���)� -6��, ,#��-$ �
�-'#�-#'��$�	!��T�RR�!��RR2

�������'��"�-6����=.,- -$��4�6�+$ '� *�-6��, ,#��-$ ���-'#�-#'��)�,��)�� ��4 -6�-6�
,�--�'�� *���+$' �.��-���+�'$�-$ �"��$+���4=� -6�� ��B#�����N%�H� ��I�:"!"&"222O"� ��)� -6�
$�$-$���� �)$-$ ��!:2�� A�+�'"�#�)�'�� .��� �)$-$ ��� ��-6��.�-'$����%��-6��, ,#��-$ �
�-'#�-#'�� 4�� .��"� ��=.,- -$����="� $�)�,��)��-�  *� -6�� $�$-$��� � �)$-$ ��2� �6$�
F* '��--$��� *�-6��,��-G�$�������)��'� )$�$-=2

���)�-�'.$�$�-$��. )����A������*$�)�-A �C$�)�� *��'� )$�$-=�3
 6��"�!?1?�7�
!2� 	-' ��� �'� )$�$-=2� ��� �� �-' ���=� �'� )$�� �=�-�."� -6�� , ,#��-$ �� �-'#�-#'�

4�� .�����=.,- -$����=� *$@�)���)� -6$�� F�B#$�$4'$#.��-'#�-#'�G� $�� $�)�,��)��-� *� -6�
$�$-$���, ,#��-$ �"�$2�2"�-6�'���@$�-����+��- '�$��#�6�-6�-�* '���=�� ������-$+�"�� ��%�' 

$�$-$���� �)$-$ ��!:�A��6�+�� lim || ||t

z
z

t

t
v

→∞
= 2

&2����C� �'� )$�$-=2� ��� ��A��C�=� �'� )$�� �=�-�."� -A �, ,#��-$ ���A$-6�)$**�'��-
$�$-$��� � �)$-$ ��� 6�+�� �-'#�-#'��� -6�-� A$��� 4�� .��. '�� ��)� . '�� ��$C�"� ��-6 #�6
��$-6�'�  *� -6�.�A$��� �������'$�=� � �+�'��2� ���  -6�'�A ')�"� * '� ��=� � ��%�' � $�$-$��
� �)$-$ ���!:���)�!:U

lim || || .|| ||
'

|| ' ||t

z
z

z
z

t

t

t

t→∞
− = 0 3!<7

� -��-6�-��-' ����'� )$�$-=�$.,�$���A��C��'� )$�$-=2
��-#'�$��� - � -6�� �-#)=�  *� -6�� �=�-�.� 3!>7"� A�� )$�-$��#$�6� )$**�'��-� ,�--�'���  *

��+$' �.��-���+�'$�-$ ��
!2� 
 ��-��-� ��+$' �.��-2� ��� -6$�� �����%��I	% � * '� ���� �"� � � -6�� �=�-�.� 4�� .��

�#- � . #�2��6����C$�)� *��=�-�.���@6$4$-��-' ����'� )$�$-=�$*���)� ��=�$*�.�-'$@�%�$�
,'$.$-$+�2��6�����'���-$ �� *�. )��� 3<7�A6������ ��)� �� �'��� ��-��-�A$-6� -$.�"�6��
4����)���-�A$-6�$��	/��6�%�
�	��2�3!??<72

&2�
=��$����+�'$�-$ �2� ��� -6���� �=�-�.�� -6�'�� �@$�-�� ��, �$-$+�� $�-���'�τ� �#�6� -6�-
%�Jτ�I	%�� * '� ���� �"� $2�2"� -6�� ��+$' �.��-� �6������ ,�'$ )$����=� A$-6� �� ,�'$ )� τ2� �6�
�����$�����,,' ��6�3	C����."�!?;1H�
��A���"�&::!7�� ��$�-�� *�� ��$)�'$���,' )#�-�� *
.�-'$����  *� ����-6�τ"�A6$�6� '��)�'�� -6�� �=�-�.� �#- � . #�2� �6�� �=�-�.� ���� -� 4�
�@,��-�)� - � 4�� �-' ���=� �'� )$�"� 4#-� #�)�'� +�'=� ����'��� ���#.,-$ ��� -6�'�� $��A��C
�'� )$�$-=�3	��%���)��'�+ �)�������''�"�&::!72

(2F	-�4$�$%$�����+$' �.��-G2��'�B#��-�="� -6�� ��B#����� *���+$' �.��-���.�-'$���
N%�O�-��)�"�A6�����→�∞"�- ���*$@�)�.�-'$@�%�A6$�6�����4��$�-�','�-�)����-6��.�-'$@� *
+$-��� '�-��� * '� -6��, ,#��-$ ��A6��� -6����+$' �.��-�6��� '���6�)��B#$�$4'$#.2���)�'
+�'=� ����'��� � �)$-$ ��"� -6���� C$�)�  *� �=�-�.�� 4�6�+�� ��=.,- -$����=� �$.$��'�=� - 
�#- � . #���=�-�.��A$-6�,' K��-$ ��.�-'$@�%"���)�-6�'�* '���-' ����'� )$�$-=�6 �)��$*
��)� ��=�$*�%�$��,'$.$-$+�2�� -��-6�-"�$��	��-$ ��&"�A�����#.�)�-6�-�-6��*��-�,' �����$�
���6�-$.���-�,� *�-6���� A�,' �����* �� A��-6$��,�--�'�� *�+�'$�-$ �2��6��'�)#�-$ �� *
-6��. )���3<7���)�-6��'���-$ ��6$,��4�-A����-6�� '$�$������)�-6�����'���-�)��=�-�.��$�
-6�� ������  *� �=��$���� +�'$�-$ �� ��)� +$-��� '�-��� -��)$��� - � ��� �B#$�$4'$#."� 6��� 4���
�))'����)�$��	��%���)��'�+ �)�������''��3!??072

>2� ����'��� +�'$�-$ �2��+��� $�� -6�� �����A6�'�� -6�'�� $�� � -� �� ,�'-$�#��'� ,�--�'��  *
��+$' �.��-���+�'$�-$ �"��$+���� .�����#.,-$ ��� ��-6����-� *�, ��$4�����+$' �.��-��
.�-'$����-6���=�-�.�$��A��C�=��'� )$�2��6��'���-$ ��6$,��4�-A����-6��A��C��'� )$�$-=



���������	
������
������
���
���	 &(

 *��=�-�.�3<7���)�$-��� ''��, �)$���'�)#��)��=�-�.�����4��* #�)�$��	��%���)��'�+ �)�
�����''��3&::!72

��� ����� � 
�	 ��2� 3&::!7� -6�� �#-6 '�� �@,� '�)� -6�� '���-$ ��6$,�� 4�-A���� -6�
��=.,- -$�� 4�6�+$ '�  *� -6�� ���'���-�)� �=�-�.� 3!!7� ��)� -6��  '$�$���� �=�-�.� 3>7"
���#.$������ ��-��-���+$' �.��-"�$2�2"�-6��,' K��-$ ��.�-'$������ �3+⋅⋅⋅ �3!��'��-6����.�
* '����� �2��6����@-����-$ ��$��)�+ -�)�- ��-#)=$���-6����'���-$ ��6$,��$��-6������� *���
��+$' �.��-�-6�-�-��)��- �����B#$�$4'$#.�A6�����→�∞2��#'-6�'. '�"�	��-$ ��;��@,� '��
-6�� '���-$ ��6$,��4�-A���� -6��A��C��'� )$�$-=� *� -6�� '$�$���� �=�-�.���)� -6�-� *� -6�
���'���-�)� �=�-�.�A6��� ��+$' �.��-� ) ��� � -� 6�+�� �� ,�'-$�#��'� C$�)�  *� -�., '��
+�'$�-$ �2

��* '��,' ���)$��"���-�#��$�-' )#���� .��� ���,-��-6�-�A$���4��#��*#��$���#4��B#��-
)$��#��$ ��2���� ������-$+��.�-'$@� $����$)� - �4��' A�3� �#.�7���� A�4��� $*� $-�6��"��-
����-"� ���, �$-$+����-'=�$�����6�' A�3� �#.�7�3��K���"�!?1;72�	 .��,' ,�'-$��� *�-6���
.�-'$�����'����7�-6��,' )#�-� *���' A���� A�4���.�-'$@�4=���, �$-$+��+��- '�$���� -6�'
, �$-$+��+��- '"�47� -6��,' )#�-� *���� �#.����� A�4���.�-'$@�4=���� ��%�' �+��- '� $�
�� -6�'� � ��%�' � +��- '"� �7� -6�� ,' )#�-�  *� -A � ' A� 3� �#.�7� ��� A�4���.�-'$���� $�
�� -6�'�' A�3� �#.�7���� A�4���.�-'$@2���� ������-$+��.�-'$@�$����$)�- �4����� A�4��
$*�$-�$��4 -6�' A���)�� �#.����� A�4��2��6��$��$)�����.�-'$@� *���� ������-$+��.�-'$@
%�$����.�-'$@� *�-6����.��)$.���$ �� *�%�� �-�$�$��� ��T%�' �$�����6�, �$-$ ��A6�'��%
6������ ��%�' T%�' ����.��-2����A$���A'$-��%�∼���- �)�� -��-6�-�%���)���6�+��-6����.�
$��$)�����.�-'$@���)�A'$-��%�V�:�3%�V�:7�- �)�� -��-6�-�%�$��, �$-$+��3� ������-$+�72

<2�	��
������
��
��E������������
���������������

	������W���
�

�6�� '$�$�����=�-�.�)���'$4�)�$��	��-$ ��&�$��

0�J!�I��� �3+⋅⋅⋅ �"!0�
����6���� �-#)=� -6�� '���-$ ��6$,��4�-A���� -6�����'���-�)� �=�-�.���)� -6�� '$�$���

�=�-�.�#�)�'� -6��6=, -6��$�� -6�-� -6����+$' �.��-� -��)�� - ��-�4$�$%�-$ �2� ���	��%���)
�'�+ � )�� ��� ��''�� 3!??07� -6�� �#-6 '�� ,'����-� �� �#..�'=�  �� -6�� �-#)=�  *� �-' ��
�'� )$�$-=� * '� ����'��� � ���#- � . #�� �=�-�.�2��6�'��A�� *$�)� -6�� * �� A$��� '��#�-
-6�-��$+���+�'=�����'����#**$�$��-�� �)$-$ ���* '�-6���=�-�.�- �4���-' ���=��'� )$����)
- �6�+����*$@�)���=.,- -$���' A-6�'�-��

��
��
�	:

&
�	%�3	�	;	�	�
	�	�
'�
��
	�
	�'���
	�����
����$
	���	������	����2���
	������
�

����	 ���$
��
	 ��	 �	 ,������$
	 �����0	 %	 2���	 ��������	 
��
�$���
	λ	 ���	 ��������
�
,����������	����
�	
��
�$
����	$1	��
�3	
��	���	�������	����������	!�	;	�3	!�	≠	�	2
	��$

����	<<	!�	<<	≠	�	
��	���	�	���=

�7 lim || ||t

z
z

t

t
r

→∞
= 

�7 lim .
|| ||
|| ||t

z
z
t

t→∞
+ =1  λ

�6�� '�B#$'�.��-�%�� � �#.�� ��� A�4��� * '� ���� �"� $�� �� �#**$�$��-� � �)$-$ �� * '� -6�
, ,#��-$ ��� -� - �4�� .���@-$��-� $����*$�$-�� -$.�2��' , �$-$ ��!"� $��	��-$ ��&"� ����4�



&> ���	

���	%&2

)�)#��)�*' .��6� '�.�>"� -�C$���$�- ���� #�-� -6�-��+�'=�� �#.���- �6��-$��.�-'$@� $�
� �#.����� A�4��2


 .$���4��C�- � #'�. )���A$-6�-A �-$.��������"�A��$�-' )#���-6�����#.,-$ ��-6�-
-6��, ,#��-$ ���$+���#�)�'���+$' �.��-���� �)$-$ ���-6�-�-��)�- �����B#$�$4'$#.2

#-1	��
	�
'�
��
	.�-/	 �
���3	2�
�	�	→	∞3	 ��	�	�
�����	�����0	�1	���
�$
�3	 
��

���	�3	��
	�
'�
��
�	. �3�/	���	. �/	���$
��
3	2�
�	�	→	∞3	��	�
�����	������
�	����	2

2���	�
���
	 ∞3�	���	 ∞	3	�
�,
���$
��1

��-'$��������)� ∞"!"222" ∞"+�����4��$�-�','�-�)����-6��+$-���'�-���* '�-6���� A���)�*��-
,' �����'��,��-$+��="�A6���-6����+$' �.��-�6���'���6�)��B#$�$4'$#.2

��-�#��'������-6�����'���-�)��=�-�.

y M yt t t+ =1

�' .�#-�A��6�+��-6�-� -6����B#�����N -O� -��)�"�A6��� ��→�∞"� - �����'-�$��.�-'$@
 ∞2������"�*' .�3;7���)�)#��- �-6��� �-$�#$-=� *�-6���$���+��- '�� ��-6����-'$��� *�-6�
.�-'$@"� $-� * �� A�� -6�-� -6�� ��B#�����N5�O�� �+�'����A6��� ��→�∞� - � ��'-�$��.�-'$@�5
+�'$*=$��

 ∞5�I�5

��)� -6�� ,' K��-$ ��.�-'$����  *� -6�� ���'���-�)� �=�-�.� M U M Vt
T

t t= "� -��)� - �.�-'$@

M U MVT= 2
���-6��'�.�$�$���,�'-� *�-6$�����-$ �"�A��A$����6 A�-6�-���'-�$���#**$�$��-�� �)$-$ ��

* '�-6���-' ����'� )$�$-=� *�-6�����'���-�)��=�-�.��'����� ��#**$�$��-�* '�-6���'� )$�$-=
 *�-6�� '$�$�����=�-�.2

�6�� * �� A$��� ���#.,-$ ��� �#�'��-��� -6�-� -6�� ���'���-�)� �=�-�.� .��-�� -6�
'�B#$'�.��-�� *��6� '�.�>2

#�1	������
�	 Mt 	��
	������	����2���
1

��$��� ��..��&� A�� 6�+�� -6�-� 6=, -6��$�� #� � $�� �B#$+����-� - � -6�� * �� A$��
� �)$-$ ���* '����6��' #,�)"�-6�'���@$�-�����#�6�-6�-� Mt

ij ≠ 0 "�-6�-�$�"�-6���� A�)=��.$��
��� A�"� �-� �+�'=� $��-��-"� -6�� -'���$-$ �� *' .� ��=� �' #,� )� - � �-� ����-� �� -6�'� �' #,
3, ��$4�=���� ��' #,�)72

#61	 M 	 ��	 ,������$
3	 �1
13	 ��
�
	 
0����	 ��	 ���
�
�	 �	 ����	 ����	 > M 7
�
	 ��	 �	 ,�����$


�����01	&
�	λ	 �
	 ��
	 ��������	 
��
�$���
	 �
	 M 3	 �	 ���	 ����
�,������	,�����$
	 �����


��
�$
����	����	����	<<	�	<<!	?	!	���	�
�	�	�
	���	����
�,������	,�����$
	�

�	
��
�$
����
����
�	��	����	�	2��	����	�

�
�	?	!1

���6�+��-6��"�-6�-�#�)�'�6=, -6�����#-"�#�"���)�#6"�-6�����'���-�)��=�-�.�3!!7
+�'$*$���-6�-"�* '����6�$�$-$���� �)$-$ ���:�≠�:�

�7 lim || ||t

y
y

t

t
r

→∞
= 

$2�2"�-6�����'���-�)��=�-�.�$���-' ���=��'� )$����)�-6����=.,- -$��, ,#��-$ ���-'#�-#'�
$���$+���4=�+��- '��2

47 lim
|| ||
|| ||t

y
y
t

t→∞
+ =1  λ

$2�2"�-6�����'���-�)��=�-�.�6��������=.,- -$���' A-6�'�-���$+���4=�λ2
� A�A���-�-��-A ����#.,-$ ���-6�-"�A��A$������"��#�'��-���-6���-' ����'� )$�$-=� *

-6�� '$�$�����=�-�.2



���������	
������
������
���
���	 &<

#:1	��
	���$
��
��
	�
	��
	,�������	�� �3+⋅⋅⋅ �3!	��	� ∞3+⋅⋅⋅ ∞3!	��	���
���	��	+1

�=, -6��$�� #-� �#�'��-���� -6�-"� * '� ���6�+"� -6�� ,' )#�-���� �3+⋅⋅⋅ �"!� -��)"� A6��
��→�∞"� - � .�-'$����� ∞"+⋅⋅⋅ ∞"!2� ���#: � A�� ���#.�� -6�-� -6�� � �+�'������  *� -6���
,' )#�-��A6�����→�∞�-�C���,�����A$-6����$.$��'��,��)�* '�����+��#��� *�+2

#@=	�	��	��2�����2���
1

�6$�� ���#.,-$ �� ���� 4�� $�-�','�-�)� 4=� ��=$��� -6�-"� A6��� -6�� ��+$' �.��-� 6��
'���6�)� �B#$�$4'$#."� -6�� �� A� ,' ����� +�'$*$��� -6�-"� * '� ��=� ��I�!"&"222"'� ��)
)�I�!"&"222"(�"�-6�'���@$�-���-�����-� ������ A�)�-'���$-$ ��- A�')���#4�' #,�)� *��' #,��2

� A�A�� 4-�$��-6��* �� A$���'��#�-�

 ��,�������	@

4��
�	�����,�����	#-�#@3	��
	��������	����
�	��	��������	
������1	���	���	�������

���������	0�	;	�3	0�	≠	�	2
	��$
	����	<<	0�	<<	≠	�	
��	���	�	���=
-1	��
	,�,�������	��!
	���2�	
0,��
�������	��	�	���
	λ+	��$
�	��

lim
|| ||
|| ||t

x
x k
t

t→∞
+ =1  λ

2�
�
	 λ λk
k
→
→∞

1

�1	��
	,�,�������	��������
	30�7	 A<<	0�	<<	���$
��
�	 ��	�	�����
	��������
	��$
�	��	�
$
����	�+	����	$
��
�
�	 rk

k

MVr
MVr→

→∞ || || 1

 ���


3	����,,��)$@27��

;2��������������
���������������
���������D
���
��
��E

��-� #�� � ��$)�'� ���$�� -6�� ����'$�� � ���#- � . #�� �=�-�.� 3!>72� ��� $-� A��
.��-$ ��)�$��	��-$ ��>"�$��-6�������$��A6$�6�-6����+$' �.��-��6������A$-6�-$.��$���
����'��� *��6$ �"� ���� * '� �@�.,��� 3X#$��"�!?0!7"� $-� $��� -�, ��$4��� - � �@,��-� -6�-� -6�
, ,#��-$ �� �' A�� �@, ���-$���=�  '� -6�-� , ,#��-$ �� �-'#�-#'�� � �+�'���� - � �� ��'-�$�
+��- '2� � A�+�'"� #�)�'� B#$-�� ����'��� �$'�#.�-�����"� -6�� �=�-�.� �@6$4$-�� A��C
�'� )$�$-="�$2�2"�.��-��3!<72���� -6�'�A ')�"�-6��, ,#��-$ ���-'#�-#'��F* '��-��$-��,��-G
$�� -6�������� -6�-� -A �)$**�'��-� $�$-$���, ,#��-$ ��"��#4K��-�)� - � -6����.����B#����� *
��+$' �.��-��� +�'$�-$ �"� 6�+�� �-'#�-#'��� -6�-� 4�� .�� . '�� ��)� . '�� ��$C�� 3�+��
-6 #�6�-6�=�) �� -��������'$�=�� �+�'��72

�6���-6$��,' ,�'-=�6 �)�"�-6��, ,#��-$ ���-'#�-#'��* '��#**$�$��-�=�6$�6�-$.���A$��
4��)�-�'.$��)�4=�-6��'����-�6$�- '=� *�+$-���'�-��2��6��$., '-����� *�A��C��'� )$�$-=
�$���$��-6��*��-� -6�-"� $��-6���4������ *�� .��C$�)� *��'� )$��'��#�-"�-6���@,����-$ �� *
, ,#��-$ �� �-'#�-#'�� �-� �� �$+��� -$.�� A #�)� '�B#$'�� ��� �@,����-$ ��  *� -6�� $�$-$��
, ,#��-$ �"� $2�2"�A��A #�)����)� - �C� A�$-��,'$ '������-'#�-#'��� $�)�*$�$-��=� $�- � -6�
,��-� 3
 6��"� !?1?�72� �6�� '��-�  *� -6$�� ,�,�'� $�� )�+ -�)� - � ��-�4�$�6$��� '���-$ ��6$,�
4�-A����-6��,' ,�'-=� *�A��C��'� )$�$-=�* '�-6�� '$�$�����=�-�.���)�* '�-6�����'���-�)
�=�-�.2

��� #'��,,' ��6"���)� $�� -6�'�A 'C�� $�� -6�� *$��)� *�, ,#��-$ ��)=��.$��� 3�Y,�%"
!?;!H�� �#4$-�C=�
�	��2"�!?1<H�D$.���)�	=C��"�!?1;H�
 6��"�!?1?�7�A��C��'� )$�$-=



&; ���	

���	%&2

6��� - � ) �A$-6� -6�� ��,��$-=�  *� -6�� �=�-�.� - � 4�� .�� $�)�,��)��-�  *� � �)$-$ ��� �-
-$.��:2� � �-�  *� -6�� .�-6�.�-$���� �,,' ��6��� - � A��C� �'� )$�$-=� 3��K���"� !?1;H

 6��"� !?1?4H� 	���-�"� !?0!7� �'�� ��$�6-�=� )$**�'��-� $�� -6�� ������ -6�-� $�� -6�.�A��C
�'� )$�$-=�.�����-6����,��$-=� *�-6���=�-�.�- �4�� .��$�)�,��)��-� *�-6��� �)$-$ ��
 *�-6���=�-�.��-���=�-$.����)�� -� ��=� *�$�$-$���� �)$-$ ��2

� �-� *� -6��.�-6�.�-$���� -6� '=�$�+ �+�)�$��-6���-#)=� *�A��C��'� )$�$-=�����4�
* #�)� $�� 	���-�� 3!?0!72� ���  ')�'� - � �-#)=� -6�� A��C� �'� )$�$-=�  *� �� �=�-�."� $-� $�
�#�- .�'=�- �#�����.�-6�.�-$���� -  �������)�F,' K��-$+��)$�-����G�3� �#4$-�C=�
�	��2"
!?1<H� 	���-�"� !?0!72� �6$�� $�� �� ,��#) .�-'$�� -6�-� .���#'��� -6�� )$�-����� 4�-A���
, �$-$+��+��- '���--��)$���- �-6�$'�'���-$+��� ., �$-$ �"�$2�2"� $-� $�� $�)�,��)��-� *� -6�$'
�$%����)� ��=�)�,��)�� ��-6���-'#�-#'�� *�-6��+��- '��#�)�'�� ��$)�'�-$ �2�����-�)�- 
-6�� ,' K��-$+�� )$�-����� $�� -6�� F�'� )$�$-=� � �**$�$��-G� *� ��� ������-$+��.�-'$@"� -6�-
�  ���=� �,��C$���.���#'��� -6�� ��,��$-=�  *� -6��.�-'$���� - � ��-� � �-'��-$+��=� $�� -6$�
.�-'$�2

��� ')�'� - ��-#)=� -6���'� )$�$-=� *����=�-�.�#�$���-6��,' K��-$+��)$�-�������)�-6�
�'� )$�$-=�� �**$�$��-������-  �"�$-�$��#�#���- ���$�6-�=�. )$*=�-6��)�*$�$-$ �� *�3!<72���
,�'-$�#��'"�-6���--��-$ ��$��'��-'$�-�)�- ��=�-�.�3!>7�A6���-6��%���'����� A�4���.�-'$���2
����) ,-������)�*$�$-$ �� *�A��C��'� )$�$-=�-6��* �� A$��� ���3
 6��"�!?1?4H�	���-�"
!?0!7�

B

�������	C

&
�	 %�	 �
	 �	 �
'�
��
	 �
	 (×(	 ����2���
	 ������
�1	 ��
	 ,�������	 H ht t
ij= [ ]	 ��


2
�+��	 
������	 ��3	 
'��$��
����3	 ����
�	 >-:7	 ��	2
�+��	 
������3	2�
�	 ��
�
	 
0����	 �

�
'�
��
	�
	(×(	,�����$
	������
�	�
	���+	��
	 S st t
ij= [ ]	����	����

lim , , , ..., .
t

t
ij

t
ij

h

s
i j N

→∞
= =1 1 2 for all 3!;7

�-�$���-'�$�6-* 'A�')�- ��6��C�-6�-�� �)$-$ ��3!;7"�A6$�6�����4��,�'�,6'���)���=$��
-6�-"���=.,- -$����="�-6��� �#.��� *�#��4�� .��, �$-$+����)�,' , '-$ ���"�$.,�$���3!<72
� -��-6�-����������'=�� �)$-$ ��* '�-6��A��C��'� )$�$-=� *��=�-�.�3!>7�- �6 �)�$��-6�-
-6��,' )#�-��#��4�� .��, �$-$+��* '�4$���� #�6��2


 �)$-$ ���  �� .�-'$���� %�� A6$�6� �'�� 4 -6� �������'=� ��)� �#**$�$��-� * '� A��C
�'� )$�$-=�- �6 �)��'��� -�C� A�2

�6��* �� A$���-6� '�.��$+���+�'=�����'����#**$�$��-�� �)$-$ ���* '�A��C��'� )$�$-=
A6$�6�6 �)�$��.��=�,'��-$�����$-#�-$ ���* '�, ,#��-$ �����)"�. '� +�'"��'��+�'=����$�=
�6��C�)�$��,'��-$��2

��
��
�	D1

%����
	,������$
	������
�	�	���	�	
0���	����	����	
��	���	�

�	8	%�	8	�

>��	��
	�
'�
�	���������	>�771	��
�	����
�	>-:7	��	2
�+��	
������1

 ���


�3	����,,��)$@72��



���������	
������
������
���
���	 &1

� -��-6�-"�$��,�'-$�#��'"�� �)$-$ ��3�7�$.,�$���-6�-�����.�-'$����%���'��,'$.$-$+�2���
�))$-$ �"�$*�� �)$-$ ��3�7�$��.�-"�-6����=�-�.�3!>7�$��A��C�=��'� )$��* '���=�,�--�'�� *
+�'$�-$ ��$��-6����+$' �.��-�* '�A6$�6�-6��'��#�-$���,' K��-$ ��.�-'$����4�� ���- �-6�
��-�N%!"	%&"222O"�$2�2"���=��=�-�.�!�J!�I�E�!��A$-6�E��∈�N%!"	%&"222O�A$���4��A��C�=��'� )$�2

��-�#��� A�� ��$)�'�-6��,�'-$�#��'������$��A6$�6�-6���#.4�'� *�)$**�'��-�, ��$4��
��+$' �.��-��* '�-6��, ,#��-$ ��$��*$�$-�"�$2�2"�-6�������$��A6$�6�.�-'$����%��4�� ���- ��
*$�$-����-�N�!"�&"222"�σO�3-6$��$��-6��. �-�� .. �������$��,'��-$��72��6���$-�$������'�-6�-
.�-'$����%�� A$��� ��A�=�� 4�� 4 #�)�)� �4 +�� 4=� �� ,'$.$-$+�� .�-'$@2� � '� +�'"� -6�
� �)$-$ ����M�%��A$-6���,'$.$-$+�"�A$���)�,��)� ��=� ��-6��$��$)�����.�-'$���� *�-6����"
$2�2"�A$���)�,��)� ��=� ��-6��,�--�'�� *�� ��%�' ����.��-�� *�-6����.�-'$������)�� -� �
-6�$'� �,��$*$�� +��#��2� �'��$���="� � �)$-$ �� 3� 7� A$��� 4�� .�-� $*� ��)�  ��=� $*
.$�N�3�!7"222"�3�σ7O� $�� �� ,'$.$-$+�� .�-'$@"� A6�'�� .$�N%!"222"%,O� $�� �� .�-'$@� A6 ��
���.��-��$��, �$-$ ��3�")7�$��min{ ,..., }a aij ij

p1 2

��� A$��� �) ,-� -6�� � -�-$ �� .$�J3%7� ��)�.�@� 3%7� - � )�� -�"� '��,��-$+��="� -6�
�.�����-� , �$-$+�� ���.��-� ��)� -6�� ��'���-� ���.��-�  *�% 2� � A� A�� $�-' )#��� -A 
6=, -6����� �� #'��=�-�.�

#C1	��
	����!
��	
����
�	�
	������
�	��	���	 �3+	��
	�����
�	�2��	
���	!
��	���

��
�����3	�1
13	��
�
	
0���	,�����$
	���������	�3	�F3	�	���	�F	����	����	
��	���	�	���	+	2


��$


.$�J3��7�V��H�.$�J3 �"+7�V��Z

.�@3��7�M��H�.�@3 �"+7�M��Z

� -$��� -6�-� #C � $�� ��A�=�� .�-� $*� -6�'�� $��  ��=� �� *$�$-�� �#.4�'�  *� )$**�'��-
��+$' �.��-�2

#D1	���	
���	�3	��	��	��2�����2���
1

�6$�� .����� -6�-"� $�� ���6� $�-�'+��� *�� -6�� �� A� ,' ����� +�'$*$��� -6�-"� * '� ��=
��I�!"&"222"'� ��)� )�I�!"&"222"(�"� -6�'�� �@$�-�� �-� ����-�  ��� ��� A�)� -'���$-$ �� - A�')�
�#4�' #,�)� *��' #,��2

�6��* �� A$���'��#�-���� A�� ���- ��-#)=�-6��A��C��'� )$�$-=� *�-6�� '$�$�����=�-�.
$��-�'.�� *�-6�����'���-�)��=�-�.2

 ��,�������	G

&
�	��	�����
	����	#C	���	#D	����1	*
	��
	����
���
�	����
�	�

��	���������	>�73

�1
13	��
�
	
0���	,������$
	������
�	�	���	�	����	����

�	8	Mt 	8	�3

�����	
��	���	�3	��
�	��
	��������	����
�	��	2
�+��	
������	
��	���	
�����	+1

 ���


3	����,,��)$@7��
�6�� ��@-� ���-$ �� $�� )�+ -�)� - � $��#�-'�-$��� -6�� '��#�-��  4-�$��)� $�� ,'�+$ #�

	��-$ ���(� ��)� ;�  �� ��.#�-$'��$ ���������-'#�-#'�)�. )��2���� $��#�-'�-$ �� *��$.$��'
'��#�-�� - � -6 ���  4-�$��)� $�� 	��-$ ��<"� ���� 4�� * #�)� $�� 	��-$ ��<�  *� ����� � 
�	 ��2
3&::!72



&0 ���	

���	%&2

12����
�����
�
�
�	����������
�����
���
��� -6$�����-$ ��A��A$��� $��#�-'�-�� -6�����'���-$ ��,' ��)#'��,' , ��)�$��	��-$ ��&

-6' #�6�-6��'�)#�-$ �� *���.#�-$'��$ ����� ���#- � . #��. )���A$-6�*��-�.$�'�-$ �2
� '� +�'"�A��A$����6 A�-6' #�6��#.�'$�����$.#��-$ ���-6��'��#�-�� ��A��C��'� )$�$-=
 4-�$��)� $�� -6�� ,'���)$��� ���-$ �� * '� -6�� �����  *� �� F����'��� ,�--�'�G�  *� -�., '��
+�'$�-$ �2����,�'-$�#��'"�A��A$���$��#�-'�-���#.�'$����=�6 A�-6��A��C��'� )$�$-=� *�-6�
 '$�$�����=�-�.�����4���#�'��-��)�*' .�+�'=��$.,���� ��$)�'�-$ ��� ��-6�����'���-�)
�=�-�.2

��� � ��$)�'� �� , ,#��-$ �� )$+$)�)� $�- � -A � ���� �������"� = #��� ��)� �)#�-
$�)$+$)#���"���)�)$�-'$4#-�)�4�-A����-A ��� �'�,6$����,�-�6��2��6��, ,#��-$ ��+��- '
$�

x x x x xt t t t t
T= ( , , , ), , , ,1 1 1 2 2 1 2 2

A6�'�� xt
i j, �$��-6���#.4�'� *�$�)$+$)#���� *�������-6�-��$+��$��,�-�6�)��-�-$.���2

�6��)=��.$��� *� -6��, ,#��-$ �� $�� � +�'��)�4=� -A �,' ������"� )�. �'�,6=� ��)
.$�'�-$ �"�A6 ������ �$�-�)�+$-��� '�-���)�,��)� �� -6����+$' �.��-���� �)$-$ ��"� -6�-
A��A$����#,, ����'���6���$���A$-6�-$.�2�������#.��-6�-�.$�'�-$ ��$��*��-�� .,�'�)
A$-6� )�. �'�,6=� ��)� �6  ��� -6�� ,' K��-$ �� $�-�'+��� *��  *� -6�� . )��� - � 4�� -6��  ��
��� �$�-�)� A$-6� )�. �'�,6=2� ��� .�C�� -6�� ��-#'��� ���#.,-$ �� -6�-� ��A4 '�
$�)$+$)#���� �$+�� $�� -6�$'� ,�'��-�� ,�-�62� ��� -6$�� A�="� )�. �'�,6=� $�� ���6� *�� $�
�6�'��-�'$%�)�4=���.�-'$@

M

f f

f f

s s

s s

t

t t

t t

t t

t t

=



















1 1 2 1

1 2 2 2

1 1 2 1

1 2 2 2

0 0

0 0

0 0

0 0

, ,

, ,

, ,

, ,

3!17

A6�'�� ft
i j, � ��)� st

i j, � '�,'����-"� '��,��-$+��="� -6�� *�'-$�$-=� '�-�� ��)� -6�� �#'+$+��
,' 4�4$�$-=� *����$�)$+$)#��� *��������$+$���$��,�-�6�)��-�-$.���2

����#,, ���-6�-�$�����6�-$.��$�-�'+���*�"�.$�'�-$ ����-��+�-$.���4�* '��)�. �'�,6=
) ��"�A6�'��+�$����4$��$�-���'�-6�-�����4��� ��$)�'�)����-6��'�-$ �4�-A����-6��,' K��-$ �
$�-�'+���� *�)�. �'�,6=���)�.$�'�-$ �2��6�'�* '�"�$*�A��)�� -��4=�∆��-6��-$.���-�,� *
-6�� *��-� ,' ����"� A�� ���� � ��$)�'� ���6� -$.�� $�-�'+��� *��I�L�"�J!7� )$+$)�)� $�- � +
�#4$�-�'+���� 3.$�'�-$ ��,�'$ )�7� *� -6�� * '.� *�"��IL�J3��!7∆�"-J�∆�7H��	I�!"222"+2����A$��
)�� -��4=� �"��∈��>×>�-6��.�-'$@�-6�-�)�*$����.$�'�-$ ��$��$�-�'+���*�"�2����-6$��A�="�-6�
��-� *�.�-'$�����6�'��-�'$%$���.$�'�-$ ��)#'$���$�-�'+���*��$�

P

p q

p q

p q

p q

l kt l

t l t l

t l t l

t l t l

t l t l

,

, ,

, ,

, ,

, ,

; , ..,=

−
−

−
−



















=

1 0 0

1 0 0

0 0 1

0 0 1

1

1 1

1 1

2 2

2 2

 3!07

A6�'�� pt l
i
, �'�,'����-��-6��,' 4�4$�$-=� *���������)�$�)$+$)#����$+$���$��,�-�6�!��-�-6����-6

.$�'�-$ ��,�'$ )� *�$�-�'+���*�"�- �.$�'�-��- �,�-�6�&2����� � #��="� qt l
i
, �'�,'����-��-6�



���������	
������
������
���
���	 &?

,' 4�4$�$-=� *���������)�$�)$+$)#����$+$���$��,�-�6�&��-�-6����-6�.$�'�-$ ��,�'$ )� *�-$.�
�"�- �.$�'�-��- �,�-�6�!2

�6��� #'�.#�-$'��$ ����. )���3 '$�$�����=�-�.�A$-6�-6��� .�����-#'�� *�	��-$ ��&7
'��)�

0�H-�I��� �3+⋅⋅⋅ �3!0�2 3!?7

��� ')�'� - ����'���-�� -6�� �=�-�."�A�����#.�� -6�-"� * '����6� �"� -6����B#�����N �3+O
� �+�'����A6���+�→�∞�- �����'-�$��.�-'$@� �

P

p q

p q

p q

p q

t

t t

t t

t t

t t

=

−
−

−
−



















1 0 0

1 0 0

0 0 1

0 0 1

1 1

1 1

2 2

2 2

,

A$-6�-6��,�'�.�-�'�� p p qt t t
1 2 1, , ���)� qt

2 �4�� ��$���- �$�-�'+���3:"!72

� �� A$���-6�����'���-$ ��,' ��)#'��$��	��-$ ��&"�A��6�+��-6�-�-6��+��- '�� vt
1���)

vt
2 �-6�-�)�*$���-6���B#$�$4'$#.�,' , '-$ ��� *�.$�'�-$ ��$�����6�$�-�'+���*���'���$+���4=

v vt

q

p q

p

p q

t

q

p q

p

p q

t

t t

t

t t

t

t t

t

t t

1 2

1

1 1

1

1 1

2

2 2

2

2 2

+

+

+

+

































;  

���)�*$���-6���� 4���+�'$�4���� yt
i �3��I�!"&7����-6��- -���, ,#��-$ ��A$-6������"�$2�2"

y x x y x xt t t t t t
1 1 1 1 2 2 2 1 2 2: ; :, , , ,= + = + 

��)�-6���-6�����'���-�)��=�-�.�'��)�

y

y
M

y

y

t

t

t
t

t

+

+









 =











1
1

1
2

1

2
3&:7

�A6�'�

Mt

f q f p

p q

f q f p

p q

s q s p

p q

s q s p

p q

t t t t

t t

t t t t

t t

t t t t

t t

t t t t

t t

=














+
+

+
+

+
+

+
+

1 1 1 1 2 1

1 1

2 1 2 2 2 2

2 2

1 1 1 1 2 1

1 1

2 1 2 2 2 2

2 2

, , , ,

, , , ,

��-�#��� A�$��#�-'�-��6 A�A�������-#)=�-6��A��C��'� )$�$-=� *��=�-�.�3!?7�-6' #�6
-6�� �-#)=� *� �=�-�.� 3&:72�� '� -6�� ��C�� *� �$.,�$�$-=� *� �@, �$-$ �"� ��-� #�� � ��$)�'� �
. )��� A$-6� -A � , ��$4��� ��+$' �.��-��� � �)$-$ ��� -6�-� A�� )�� -�� !� ��)� &2� ��
��� ')����� A$-6� -6$�� � ��$)�'�-$ �� ��-� %�� 4�� -6�� ,' K��-$ �� .�-'$@� A6$�6� )�*$���
)�. �'�,6=� $�� ��+$' �.��-� ����)� Bl

i H� ��I�!"&"22"� -6�� ��B#�����  *� .�-'$���� A6$�6
�6�'��-�'$%���.$�'�-$ ��$����+$' �.��-���3��I�!"&72��6����.�-'$����6�+��-6��* '.

A

f i f i

f i f i

s i s i

s i s i

i =



















1 1 2 1

1 2 2 2

1 1 2 1

1 2 2 2

0 0

0 0

0 0

0 0

, ,

, ,

, ,

, ,

( ) ( )

( ) ( )

( ) ( )

( ) ( )



(: ���	

���	%&2

B

p i q i

p i q i

p i q i

p i q i

l
i

l l

l l

l l

l l

=

−
−

−
−



















1 0 0

1 0 0

0 0 1

0 0 1

1 1

1 1

2 2

2 2

( ) ( )

( ) ( )

( ) ( )

( ) ( )

,

A6�'��-6��.���$��� *�-6��+$-���'�-���$������'�*' .�3!17���)�3!072
�6�'�* '�"�-6��.�-'$������ �3+⋅⋅⋅ �"!� *�+$-���'�-���* '� #'�.#�-$'��$ �����=�-�.�3!?7

-�C��+��#���$��-6����-�N�!"�&O"�A6�'�

E A B B E A B Bk k
1 1 1

1
1 2 2 2

1
1= ⋅ ⋅ ⋅ = ⋅ ⋅ ⋅;  

������ ')�����A$-6�-6��)$��#��$ ���4 +�"����#.��-6�-� -6����B#������N Bl
1O���)�N Bl

2O

� �+�'���- �.�-'$���� Bl
1���)� Bl

2 ��$+���4=

B

p i q i

p i q i

p i q i

p i q i

ii =

−
−

−
−



















=

1 0 0

1 0 0

0 0 1

0 0 1

1 2

1 1

1 1

2 2

2 2

( ) ( )

( ) ( )

( ) ( )

( ) ( )

; , .  

A$-6� -6��,�'�.�-�'��,!3�7"�,&3�7"�'!3�7���)�'&3�7�4�� ��$��� - � $�-�'+��� 3:"!72��6��"� -6�
.�-'$@� E i ���� �$�-�)�A$-6�-6�����'���-�)��=�-�.�$����+$' �.��-���$�

E i

f i q i f i p i

p i q i

f i q i f i p i

p i q i
s i q i s i p i

p i q i

s i
=

+

+

+

+
+

+

1 1 1 1 2 1

1 1

2 1 2 2 2 2

2 2

1 1 1 1 2 1

1 1

2 1

, , , ,

, , ,

( ) ( ) ( ) ( )

( ) ( )

( ) ( ) ( ) ( )

( ) ( )
( ) ( ) ( ) ( )

( ) ( )

( )) ( ) ( ) ( )

( ) ( )

, ; , .
q i s i p i

p i q i

i2 2 2 2

2 2

1 2
+

+















=  

� �.�-'$���� Mt �$��3&:7�4�� ���- �-6����-�N E1 " E 2 O2
�*� -6�� � �)$-$ ���  *� �' , �$-$ ��0� 6 �)"� -6��� * '� ��=� ,�--�'��  *� ��+$' �.��-��

+�'$�-$ �"� $2�2"� * '� ��=� �,��$*$�� �6 $���  *� ��+$' �.��-� $�� ���6� $�-�'+��� *�"� -6�
.#�-$'��$ ���� �=�-�.� 3!?7� $�� A��C�=� �'� )$�2� ���  -6�'� A ')�"� ��=� -A � )$**�'��-
, ,#��-$ ��� �#4K��-�)� - � -6�� ��.�� ��B#�����  *� ��+$' �.��-��� � �)$-$ ��� A$��
��=.,- -$����=�6�+����� .. ���-'#�-#'�2

��� ')$���- �	��-$ ��;"��$����-6���#.4�'� *�)$**�'��-���+$' �.��-���� �)$-$ ���$�
*$�$-�"�$�� ')�'�- ��#�'��-���-6�-�-6��6=, -6��$�� *��' , �$-$ ��0�$��.�-"�A�� ��=����)
- �,�=��--��-$ ��- �-6��$��$)�����.�-'$���� *�%!���)�%&2����� ��$)�'"�* '��@�.,��"�-6�
����

i A i A( ) ; ( )1 2

0 0

0 0 0

0 0

0 0 0

0 0 0

0 0 0

0 0 0

0 0 0

=

+ +
+

+ +
+



















=

+
+

+
+



















 

A6�'��J� )�� -��� �� � ��%�' � ���.��-2��6��"���..��&� �#�'��-���� -6�-� -6�� $��$)����
.�-'$���� *� E1 ���)� E 2 ��'�

i E i E( ) ; ( )1 2 0
=

+ +
+ +







=
+

+ +






 



���������	
������
������
���
���	 (!

��)� -6�'�* '�� -6�� ���'���-�)� �=�-�.� +�'$*$��� � �)$-$ �� 3�7� ��)� $�� A��C�=� �'� )$�2
	$����.�-'$���� �3%!7� ��)� �3%&7�.��-� � �)$-$ ���#C � ��)�#D"�A�� ���� ���#'�� -6�-� -6�
.#�-$'��$ ����. )���3!?7�$��A��C�=��'� )$�2

���  ')�'� - � $��#�-'�-�� -6$�� '��#�-"� A�� A$��� � ��$)�'� �� )�-�'.$�$�-$�� ��B#�����  *
��+$' �.��-��$��A6$�6�-6�'��$��� -���,�'-$�#��'�,�--�'�� *�+�'$�-$ �2�� '��$��,�'-$�#��'"
A��A$��� � ��$)�'� �� -�., '��� +�'$�-$ ��A$-6 #-� ��=� �=��$�� ,�--�'�� � '� �� -��)���=� - 
�B#$�$4'$#.2�� -$��� -6�-� $�� ��=� *� -6���� -A � ������ -6�� ,' 4��.�4�� .��� -'$+$��� ��)
A��C��'� )$�$-=�* �� A����. �-�)$'��-�=�3	��-$ ��>72���� ')�'�- �.��-� #'�'�B#$'�.��-�"
A������'�-������B#����� *���+$' �.��-��#�$���-6���B#�-$ �

φ�J!�I�>φ��3!���φ�72 3&!7

�6��,' K��-$ ��.�-'$@�* '� -6�� '$�$�����=�-�.�� ''��, �)$���- � -$.���"�A�������'�-�)
��� ')$���- �-6��* �� A$����'$-�'$��

E
E

E
tt

t

t

=
∈

∈






=

1

2

0 0 5

0 5 1
1 2

 if 

 if 
 

φ

φ

( , . )

[ . , )
, , , ...

�$+��� ��� $�$-$��� +��#�� φ:�∈�3:"!7"� �B#�-$ �� 3&!7� =$��)�� �� �6� -$�� ��B#�����  *
�#.4�'��$��-6��'����$�-�'+���3:"!7���)"�-6�'�* '�"�-6��,�--�'�� *���+$' �.��-���+�'$�-$ �
��-$�*$���-6���4 +��� �)$-$ ��"�$2�2"�$-�) ���� -��@6$4$-���=��=��$��,�--�'��� '���-��)���=
- ��B#$�$4'$#.2

��� #'��$.#��-$ ��A��6�+�����$���)���� $�$-$���+��#��φ:�I�:2!2�����))$-$ ��A��6�+�
�$+�������,-�4����#.�'$����+��#���- �-6��+$-���'�-������ �$�-�)�A$-6����6���+$' �.��-�

A A

Bl
l

1 2

1
1
2

0 2 0 1 5 0

0 0 0 0 5

0 9 0 0 8 0

0 0 6 0 0

0 0 1 0

0 0 0 2

0 0 0 3 0

0 0 4 0 0

0 5 0 5 0 0

0 5 0 5 0 0

0 0 0 6 0 9

0 0 0 4

=



















=



















= −

. .

.

. .

.

;
.

.

. .

. .

. .

.

   

00 1

0 4 0 3 0 0

0 6 0 7 0 0

0 0 0 4 0 9

0 0 0 6 0 1

1 2

1
2

2
1
2
1
2

.

;

. .

. .

. .

. .

; , , ..., .

+



















= −
+



















=

l

l

l

B l kl      

�$-6� -6���� +$-��� '�-��"� -6�� .�-'$���� ��� �$�-�)� A$-6� ���6� ��+$' �.��-� $�� -6�
���'���-�)��=�-�.��'�

E E1 20 1 1 1923

0 75 0 5538

0 1 4

0 1333 0 12
= 





= 





. .

. .
;

.

. .
 

�' , �$-$ ��(� ���$.�� -6�-� -6�� , ,#��-$ �� +��- '� �-� �� �$+��� -$.�� �� ���� 4�
�,,' @$.�-�)�-6' #�6�-6�-� *�-6�����'���-�)��=�-�.2��$�#'��!��6 A��-6���+ �#-$ �� *
4 -6��=�-�.�"�* '�+�I�;2�� -��-6�-�-6��)$��'�,���=�4�-A����-6���,,' @$.�-$ �����)�-6�
'����+��#��� 4-�$��)� ��-6�� '$�$�����=�-�.��'��$��$��$*$���-�* '���M�;:2



(& ���	

���	%&2

0 20 40 60
0

50

100

150

t

X
11

0 20 40 60
0

20

40

60

80

100

120

140

t

X
12

0 20 40 60
0

20

40

60

80

100

120

140

t

X
21

0 20 40 60
0

10

20

30

40

50

60

70

t

X
22

������	�2��+ �#-$ �� *�-6��� �#-$ ��� *�-6�� '$�$������)�-6�����'���-�)��=�-�.��������' A�2��6�
�=.4 ����.,� =�)��'��[J\�* '�-6��, ,#��-$ ���#.4�'���$+���4=�-6�����'���-�)��=�-�.���)�[ \
* '�-6 ����$+���4=�-6�� '$�$�����=�-�.�A$-6�+�I�;2

4 6 8 10
80

85

90

95

100

105

k

X
11

4 6 8 10
115

120

125

130

135

140

k

X
12

4 6 8 10
24

26

28

30

32

k

X
21

4 6 8 10
30

32

34

36

38

k

X
22

������	
2�
 �+�'������ *�-6��, ,#��-$ ��+��- '��,' +$)�)�4=�-6�����'���-�)�3 7���)�-6�� '$�$���
3J7��=�-�.��A6���+��' A�2



���������	
������
������
���
���	 ((

0 5 10 15 20
0.2

0.25

0.3

0.35

0.4

0.45

0.5

0.55

t

Z
11

0 5 10 15 20
0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

t

Z
12

0 5 10 15 20
0

0.1

0.2

0.3

0.4

0.5

t

Z
21

0 5 10 15 20
0

0.1

0.2

0.3

0.4

0.5

t

Z
22

������	�2�
 �+�'������ *�-6��, ,#��-$ ���-'#�-#'��* '�)$**�'��-�$�$-$���� �)$-$ ��2�W�)�'�,'����-�
-6��,' , '-$ �� *������)�$�)$+$)#�����$+$���$��,�-�6�)2��6$��4�6�+$ '�$��)#��- �-6��A��C��'� )$�$-=
 *�-6�� '$�$�����=�-�."�,'�)$�-�)�-6' #�6�-6������=�$�� *�-6�����'���-�)� ��2

�$�#'��&� � .,�'��� -6�� , ,#��-$ �� +��- '� �-� -$.�� ��I�<:� * '�+��#��� *�+� �' A$��
*' .�>�- �!:���)��6 A��6 A�-6���,,' @$.�-$ ���$+���4=�-6�����'���-�)��=�-�.�* '�-6�
, ,#��-$ ��+��- '��-���*$@�)�-$.���"�$���6�',�'�-6��6$�6�'�+�$�2���� �����������-6�
)$**�'������4�-A����-6��+��- '�� 4-�$��)�-6' #�6�4 -6�-6�� '$�$������)�-6�����'���-�)
�=�-�.��4�� .������$�$4���* '�+��� ���- �!:2

��� ')�'�- ��6 A�-6��A��C��'� )$�$-=�$��-6�� '$�$�����=�-�."�A��6�+��'#��-6��. )��
* '�*$*-=�)$**�'��-�$�$-$���� �)$-$ �����)�* '�-6��*$'�-�-A��-=�-$.���-�,�2��$�#'��(��6 A�
-6�� �-'#�-#'��  *� -6�� , ,#��-$ �� * '� ���� -6 ��� $�$-$��� � �)$-$ ��2���� ���� ���� -6�-"� * '
�.����+��#��� *� �"� -6�'���'��)$**�'������ $�� -6��, ,#��-$ �� �-'#�-#'���� ''��, �)$��� - 
)$**�'��-� $�$-$��� � �)$-$ ��"� 4#-� * '� 6$�6�'� +��#���  *� �� , ,#��-$ �� �-'#�-#'�� 4�� .��
$�)�,��)��-� *�$�$-$���� �)$-$ ��2

02�

�
��	�
�
���'���-$ ��.�-6 )����� A� ���- �'�)#��"�#�)�'���'-�$��� �)$-$ ��"�-6��)$.���$ �

 *����=�-�.� *�)$**�'������B#�-$ ��� $�+ �+$��� -A � -$.��������2� ���, ,#��-$ ��. )���
3	��%� ��)��'�+ � )�� ��� ��''�"� !??0"�&::!7"� -6���� ������� � ''��, �)� - � -A �)$**�'��-
,' ��������**��-$���-6���+ �#-$ �� *�-6��, ,#��-$ �2

	 � *�'� ���'���-$ �� -��6�$B#��� 6�)� 4���� �,,�$�)� - � �#- � . #�� ��)� � ��
�#- � . #���=�-�.��#�)�'� -6���$.,�$*=$������#.,-$ �� -6�-� -6��+$-��� '�-������ �$�-�)
A$-6� -6�� *��-� )=��.$��� '�.�$�� � ��-��-� $�� ���6� -$.�� $�-�'+��� *� -6�� �� A�)=��.$��2
�6$��A 'C"�- ��-6�'�A$-6������ �
�	��2�3&::!7"�$��������'��$%�-$ �� *�-6 ���.�-6 )��$�
-6��������-6�-�A����� A�-6��*��-�,' �����- �+�'=�A$-6�$-�� A��-$.�������2������ �
�	��2



(> ���	

���	%&2

3&::!7�)�����A$-6�-6���#- � . #�������A6$���-6$��A 'C��@,� '���-6�������$��A6$�6�-6�
��+$' �.��-�+�'$���A$-6�-$.�2

������'���-����+�'=�����'��� �=�-�.�A$-6� -A � -$.�����������)��6 A� -6�-�A�����
 4-�$���  )��,,' @$.�-$ ���- �-6��, ,#��-$ ��+��- '� *�-6�� '$�$�����=�-�.�-6' #�6�-6�
C� A��)��� *�-6�-� *�-6��'�)#��)�. )��2�� '� +�'"�-6����,��$-=� *�-6�� '$�$�����=�-�.
- �4�� .��$�)�,��)��-� *�$�$-$���� �)$-$ �������4���-#)$�)�$��-�'.�� *�-6�����'���-�)
�=�-�.2

�����*#-#'��� �-'$4#-$ �"�$-�A #�)�4��$�-�'��-$���- ��-#)=�A6�-6�'�-6$��A 'C�����4�
����'��$%�)�4=�-�C$���$�- ���� #�-�. '������'���4�6�+$ '��$��-6��*��-�,' ����H�$��-6$�
A�="� ���.$�6-�4���4��� - � 4-�$��������'���-�)��=�-�.��+���$*� -6��*��-�,' �����) ��
� -�'���6�����B#$�$4'$#.�$�����6�,' K��-$ ��$�-�'+��� *�-6��. )�����)� ��=��6 A��� .�
C$�)� *� � ��� -�'.� $�)�,��)�����A$-6� '��,��-� - � $�$-$��� � �)$-$ ��2����� � #��="� -6�
�#-6 '�� A #�)� �$C�� - � ����'��$%�� -6�� ���'���-$ �� ,' ��)#'�� - � � +�'� -6�� �����  *
�- �6��-$����=� +�'=$��� ��+$' �.��-�"� � �-$�#$��� -6��A 'C�  *� 	��%� ��)� �'�+ � )�� ��
��''��3&:::72

�������]

 ���
	�
	 ��,�������	@

��� -6�� *$'�-�,�����A��A$���,' +�� -6�-� -6���#@$�$�'=�	=�-�.�317� $�� �-' ���=��'� )$�2
���C� A�-6�-�-6����B#�����N5�O�� �+�'����- �����'-�$��.�-'$@�52��6���$-�* �� A��-6�-
P VU P VUt t

T T≡ → ≡ ���)"�� "�A��6�+�� M P MPt t → 2

!7 ��-�#��,' +��-6�-� MP �$��,'$.$-$+�2���$����6� '�.�>2!2�$������� �
�	��2�3&::!7
-6��� ��%�' ��$���+��#��� *� MP MVUT≡ � $���#)$���.#�-$,�$�$-$��"� �'�� -6 ��� *� M 2
�6�'�* '�"��$���� M � $��,'$.$-$+��4=�6=, -6��$�"�λ� $���$.,�����)�-6���-'$�-�=�) .$���-
�$���+��#��* '� MP 2�� '� +�'"�*' .�-6����.��-6� '�.�A�� 4-�$��-6�-��5����)�4���'�
) .$���-��$���+��- '��* '� MP 2�	$������$��' A���� A�4��"�4���)�5��'����� A�4�����)
�� ��)� ���'��, �$-$+�"� $-�* �� A��-6�-��5����)�4���'��4 -6�, �$-$+�2�� A�A���,,�=�-6�
* �� A$��� -6� '�.� 3��'.��� ��)����.. ��"� !?1?"� ,����>&7H���� ������-$+�� �B#�'�
.�-'$@�%�$��$''�)#�$4���$*���)� ��=�$*�-6���,��-'���'�)$#�� *�%�$���$.,�����)�$����� �$�-�)
A$-6� , �$-$+�� '$�6-� ��)� ��*-� �$���+��- '�2� �6�'�* '�"�.�-'$@� MP � $�� $''�)#�$4��� ��)
. '� +�'"��$����λ�$���-'$�-�=�) .$���-"�$-�$��,'$.$-$+�2

&7 � A"� ��-�#��,' +�� -6�-� M Pt t � $��� �#.����� A�4���* '����� �2���-��� 4�� *$@�)� ��)
'������-6�-

P diag P P Pt t t t
q= ( , , ..., )1 2

A6�'��-6��)$�� ����4� �C�� Pt
i �+�'$*=� P vt t

T1 1 0= >1 2��� A"�.�-'$@� M Pt t �6���-6��* '.

��

M P

M P M P M P

M P M P M P

M P M P M P

t t

t t t t t
q

t
q

t t t t t
q

t
q

t
q

t t
q

t t
qq

t
q

=



















11 1 12 2 1

21 1 22 2 2

1 1 2 2

�

�

� � � �

�



���������	
������
������
���
���	 (<

�=, -6��$��#�� - ��-6�'�A$-6���..��&� $.,�$��� -6�-"� * '� ���6� )�I�!"222"'� ��)� ���6� �"
��I��3)"�7��@$�-���#�6�-6�-� Mt

ij ≠ 0 ���)"��$����-6�� Pt
i ��'��, �$-$+��.�-'$���"�-6��� M Pt

ij
t

j

6����-�����-���, �$-$+��' A"�A6$�6�,' +���-6�-� M Pt t �$��� �#.����� A�4��2
�6�'�* '���6� '�.�>��#�'��-����-6�-�-6���#@$�$�'=��=�-�.�$���-' ���=��'� )$���-6�

��=.,- -$���-�4����-'#�-#'�� *�-6��, ,#��-$ ��$�

lim
|| || || ||t

t

t

X

X

MVr

MVr→∞
= "

.���A6$���-6����=.,- -$���' A-6�'�-�� *�-6��- -���, ,#��-$ ���$%��$��

lim
|| ||

|| ||t

t

t

X

X→∞
+ =1 λ 2

��-�#��� A�,' +�� -6�-� -6�� '$�$�����=�-�.���-$�*$��� -6��6=, -6����� *��6� '�.�>2
� '����6�+�A��6�+�

M P P MP Pt t k t
t

k, , , ,⋅ ⋅ ⋅ → ⋅⋅ ⋅
→∞

∞ ∞1 1 2

�6���A�����)� - � ,' +�� -6�-� -6��.�-'$���� M P Pt t k t, ,⋅ ⋅ ⋅ 1 � �'��� �#.����� A�4��� * '

���6��"���)�-6�-�.�-'$@� MP Pk ⋅ ⋅ ⋅ 1 �$��,'$.$-$+�2
�*� �� ��B#�����  *�.�-'$���� N%+O� � �+�'���� - � ��.�-'$@�%"� -6��� * '� ��'��� �� #�6

+��#���  *� +"� -6�� , �$-$+�� ��-'$���  *�%+� A$��� 4�"� �-� ����-"� -6 ���  *�% 2� �����"� $*�% � $�
� �#.����� A�4��"�* '���'����� #�6�+��#��� *�+"�%+�A$���4��-  2��6����.������4����$)
'���')$��� $''�)#�$4$�$-=� ��)� ,'$.$-$+$-=� -6�-� ��#��� -6���� ,' ,�'-$��� - � )�,��)
�@��#�$+��=� ��-6��,�--�'�� *�, �$-$+����-'$��� *�-6��.�-'$@�3S72

��� C� A� -6�-"� * '� ���� � "� M P P M Pt t k t
k

t t, ,⋅ ⋅ ⋅ →
→∞

1 � ��)� -6�-� .�-'$���� M Pt t � �'�

� �#.����� A�4�����)�� � $-� * �� A��-6�-�.�-'$���� M P Pt t k t, ,⋅ ⋅ ⋅ 1 ��'��� �#.����� A�4��

* '������2
�#�� - � -6�� #�$* '.� � �+�'������  *� -6�� ,' )#�-�� M P Pt t k t, ,⋅ ⋅ ⋅ 1 � �$+��� 4=

���#.,-$ ��#:"�A��6�+��-6�-�
lim lim lim

lim lim lim .

, , , ,

, ,

k
k

k t
t t k t

t k
t t k t

t
t t

MP P M P P

M P P M P MP

→∞ ∞ ∞ →∞ →∞

→∞ →∞ →∞

⋅ ⋅ ⋅ = ⋅ ⋅ ⋅ =

⋅ ⋅ ⋅ = =

1 1

1

�4 +��A����A�-6�-�.�-'$@� MP �$��,'$.$-$+�2���$���3S7�A��6�+��-6�-� MP Pk∞ ∞⋅ ⋅ ⋅, ,1

$�� ,'$.$-$+�"� � � A�� � ���#)�� -6�-� -6��  '$�$���� �=�-�.� ��-$�*$��� -6�� 6=, -6�����  *
�6� '�.�>���)�$���-' ���=��'� )$�2

�$����="���-�λ+�4��-6��) .$���-��$���+��#�� *� MP Pk∞ ∞⋅ ⋅ ⋅, ,1���)��+	$-��� ''��, �)$��

, �$-$+��'$�6-��$���+��- '��#�6�-6�-�RR��+�RR!�I�!2��#��- �-6��� �-$�#$-=� *�-6���$���+��#��
��)��$���+��- '�� ��-6����-'$��� *�-6��.�-'$@�A��6�+�

lim ; lim
|| ||k

k
k

kr
MVr

MVr→∞ →∞
= =λ λ    

��)�� �-6��)��$'�)�'��#�-�* �� A�2



(; ���	

���	%&2

 ���
	�
	��
��
�	D

��*$�$-$ ��;� � ''��, �)�� - � 	���-�\�� )�*$�$-$ ��  *� �� A��C�=� �'� )$�� ,' )#�-
3	���-�"�!?0!7�$��-6�������A6�'��-6��*$'�-�.�-'$@�$��-6��,' )#�-�$��%:2�����6 A��$��-6$�
'�*�'����"� �� �6�'��-�'$%�-$ ��  *� A��C� �'� )$�$-=� ���� 4�� �-�-�)� $�� -�'.��  *� -6�
� �-'��-$ �� � �**$�$��-� $�� -6�� * �� A$��� A�=�� ��-� %�� 4�� �� ��B#�����  *� ��� A�4��
.�-'$����3A6$�6�$�� #'������* '�-6��%���'��,'$.$-$+�72�	=�-�.�3!>7�$��A��C�=��'� )$��$*
��)� ��=�$*� lim ( )

t
B t tA A A

→∞ − ⋅ ⋅ ⋅ =τ 1 0 0 2

	$���� .�-'$@� � � $�� ,'$.$-$+�� -6�'�� �@$�-�� �� , �$-$+�� $�-���'� �� �#�6� -6�-� ���V�:2
�6�'�* '�"� *' .� � �)$-$ �� 3�7� A�� 6�+�� :�M����M�%,J��!%,J��&⋅⋅⋅%,�M���� * '� ���� ,2� ��-
��I�.$�����V�:� ��)� ��I�.�@���2� �6�'�* '��A�� 6�+�� :�M������M�%,J��!%,J��&⋅⋅⋅%,�M�����
3S72� �' .� 3	���-�"� !?0!"� ,,2� 0>7� A�� 6�+�� -6�-"� * '� ��=� , �$-$+�� .�-'$@

A a Aij B
A

A
= > = −

+
[ ] , ( )

( )

( )
0

1

1
 τ φ

φ
	A6�'�� φ( ) min

, , ,
A

i j k l

a a

a a
ik jl

jk il
= 2� �6�'�* '��A�� 6�+�� -6�-"� * '

���� , "� φ 	3%,J��!%,J��&⋅⋅⋅%,7�V�3�T�7&2� 	 "� * '� ���� ,"� A��  4-�$�� τ�3%,J��!%,J��&⋅⋅⋅%,7�M
!�Q�3�T�7�I�δ"� ��=2�� '� +�'"� )�� ., �$��� -6��,'�+$ #��,' )#�-�� $�- � *��- '��A$-6��
.�-'$���� $�� ���6"� #�$��� τ�3%�7�M�τ�3%7τ�3�7� * '� ��=� -A � .�-'$���"� ��)� -�C$��� $�- 

��� #�-� -6�-�τ�3%7�M�!"�A�� 4-�$�� 0 01 0≤ ≤ =
→∞ − →∞

[ ]lim ( ... ) lim
t

B t t
t

A A A
t
hτ δ � 3LS^�)�� -��

$�-���'�,�'-7�-6�-�A��A��-�)�- ��6 A2

 ���
	�
	 ��,�������	G

�6��,'  *�A$��� * �� A� -6�� * �� A$�����6�.�2����A$���,' +�� -6�-��$+���� �)$-$ �
3�7� ��-6�����'���-�)��=�-�.���)�#D"�-6�'���@$�-�����$�-���'����#�6�-6�-���=�,' )#�-
 *���� ����#-$+��.�-'$����$��-6�� '$�$�����=�-�.�$��, �$-$+�2�����))$-$ ��- �#�$���#C�A�
A$��� �6 A� -6�-� -6�� � ��%�' � ���.��-��  *� -6�� .�-'$����  *� -6��  '$�$���� �=�-�.� �'�
4 #�)�)� �A�=� *' .� %�' � ��)� $�*$�$-=2� �6��� -6�� '��#�-� A$��� * �� A� #�$��� -6�� ��.�
'��� �$������-6�-� *��6� '�.�12

� '�� -�-$ ����� �+��$�������-�#��)�� -�� �3+7�I� �"+… �"!2
�-� $�� �-'�$�6-* 'A�')� - ��6��C� -6��+��$)$-=� *� -6�� * �� A$��� '��#�-�� $*�%�∈���×�� ��)

��∈���×�� �'�� � ������-$+�� ��)� %� �≠ �:"� -6��� .$�J3%�7�V�.$�J3%7.$�J3� 7� ��)
.�@3��7�M��I.�@3%7.�@3�72�	 "�$*�.�-'$����%���)���4�� ���- �����-���* '�A6$�6�-6�'�
�@$�-�, �$-$+��� ��-��-������)����#�6�-6�-�.$�J3%7�V�����)�.�@3%7�M���* '�%�∈���-6��
.$�J3%�7�V��&� ��)�.�@3%7�M���&"� * '� ����%"��∈��2��6��"� ����� � ���B#����� *�#C�A�
6�+�"� * '� *$@�)�+"� -6�� � ��%�' � ���.��-��  *�.�-'$������ �"+… �"!� �'�� 4 #�)�)� �A�=
*' .�%�' ���)�$�*$�$-="� $2�2"� -6�'���@$�-�, �$-$+��� ��-��-��α� ��)�β� �#�6� -6�-� * '����� �"
.$�J3�� �3+77�V�α���)�.�@3�� �3+77�M�β3!72

� A"���-�#��)�� -�"�* '����6�,�V�:���)����6���V�,�-6��* �� A$���.�-'$@�,' )#�-��

��

Π

Π

Π

t p t t p p p p

t p t t p p p p

t p t p p

k M P k M P k M P k

M P M P M P

M M M

,

,

, .

( ) ( ) ( ) ( );

' ;

=

=

=

− − + +

− − + +

− +

1 1 1 1

1 1 1 1

1 1

�

�

�

� -��-6�-�-6��,' )#�-�� Πt p, � ��)� Π' ,t p �����4��'���-�)�4=� Π Π' , ,t p t t t p
TM V U+ =1 � 3SS72

��)��)"



���������	
������
������
���
���	 (1

M V U M V M M U M VU M V U M V U

M P M P M P

t t t p
T

t t t p
T

t t
T

t t
T

p p
T

t t t t t t t p

Π

Π
,

,' ,

= ⋅ ⋅ ⋅ = ⋅ ⋅ ⋅

⋅ ⋅ ⋅ =
− − −

− − +

1 1 1

1 1 1                     =

A6�'��A��6�+��#��)� P VUt t
T= 2

	$���� .�-'$@� � � $�� ,'$.$-$+�� -6�'�� �@$�-�� �� , �$-$+�� $�-���'� �� �#�6� -6�-� ���V�:2
�6�'�* '�"� *' .�� �)$-$ �� 3�7� �� -6�����'���-�)� �=�-�.�A��6�+�"� * '� ����,"� -6�-� -6�
,' )#�-� Πp h p+ , �$��, �$-$+�2�� A"�A��A$���,' +��-6�-"�* '�����,"� Π p h p k+ + >1 0, ( ) �* '�+

4$�� �� #�6� 3&72� ��)��)"� *' .� 3SS7� �4 +�"� A�� 6�+�� Π Π' , ,p t p p t p t p t p
TM V U+ + + + +=1 2

	$���� -6�� ��� ��)� -6�� 5�� �'�� ' A� ��� A�4��"� � � $�� -6�$'� ,' )#�-2� �6�'�* '�
M Vp t p t p t p+ + + >Π , 0 ���)��$����4��$����� A�4���-6��� Π' ,p t p+ + >1 0 2��6��)��$'�)�'��#�-

3&7�� A�* �� A��-�C$���$�- ���� #�-���..��?2
	$����Π p h p k+ + >1 0, ( ) �* '�����,���)�* '�+�4$���� #�6"�A�� 4-�$�"���--$�����I���J�!

��)� #�$��� -6�� 4 #�)�� 3!7"� -6�-� * '� *$@�)� +"�α βm T
p m p

m m Tk N11 11≤ ≤+
−Π , ( ) 1 "� ��)

-6�'�* '��A���'��$��-6����.���$-#�-$ �����$��3S7�$��-6��,'  *� *��6� '�.�1"�A$-6���I�α�

��)� ��I�(��!β� 2� ��$��� -6�� ��.�� '��� �$��� ��� A�� )$)� -6�'�� A��  4-�$�
lim ( ( )),
t

t k
→∞

=τ Π 0 0 ���)�-6�'�* '��-6�� '$�$�����=�-�.�$��A��C�=��'� )$�2

&
���	J

��
�
	
0����	�	,�����$
	���
�
�	+�	����	����	
��	���	+	;	+�	2
	��$
	 Pt∼ �3+⋅⋅⋅ �3-	>���
��
�

��
	 M Pt t 	∼	�� �3+⋅⋅⋅ �3-7	
��	���	�1

 ���


��-� �� 4�� *$@�)2��' .��' , �$-$ ��!"�A��6�+�� lim , ,
k

t k
i

t
i

t
i T

t
iP P v P

→∞
⋅⋅ ⋅ = = >1 01 � ��)"

-6�'�* '�"� * '�+� �'��-�'� -6��� �� ��'-�$��+:3�7� -6�� ,' )#�-� P Pt k
i

t
i

, ,⋅ ⋅ ⋅ 1	$�� , �$-$+�2� 	$���

.�-'$@� P vi i= �
��$����� �, �$-$+��-6���-6��'��#�-�* �� A��* '�+�V�.�@N+:3!7"222"+:3'7O2��

�
D�
����������	
	 .�� *� -6�� �#-6 '�� �'�� ,�'-$���=� �#,, '-�)�4=��' =��- �)�� ��+��-$���$Y����?0�

:1:&�3	,��$�6��2�2
272

�������
�	
��'.��"��2� ��)��292� ���.. ��� 3!?1?72� �� �����-$+��.�-'$���� $�� -6��.�-6�.�-$������$�����2

���)�.$���'���"�	����$�� 2
����� "� �2"� �2� 	��%"� �2� �#��'� ��)� �2� �'�+ � )�� ��� ��''�� 3&::!72��$���'��$��'�-��� ,#��-$ �

� )����A$-6��A ��$.��	������$�����-�
6���$�����+$' �.��-������#- � . #��
���2���-�
�$ -6� '�-$���>?��&;!�&1;2


��A���"� �2� 3&::!72� ��-'$@� , ,#��-$ �� . )���2� 	$��#�'� ��� �$�-��� ���2"� 	#�)�'���)"
������6#��--�2


6�'���A '-6"��2�3!??>72��+ �#-$ ��$�������-'#�-#'�)�, ,#��-$ ��2�
�.4'$)�����$+�'�$-=��'���"

�.4'$)��2�(:;,,2


 6��"�92�2�3!?1?�72��'� )$��-6� '�.��$��)�. �'�,6=2��#���-$�� *�-6���.�'$������-6�.�-$���
	 �$�-=�!��&1<�&?<2



(0 ���	

���	%&2


 6��"� 92�2� 3!?1?472� 
 �-'��-$+�� $�6 . ���� #�� ,' )#�-��  *� � ������-$+�� .�-'$���2
��-6�.�-$�����' ���)$���� *�-6��
�.4'$)����6$� � ,6$����	 �$�-=�0;��(<!�(;>2

� �#4$-�C="��2"� �2�2� D����'� ��)� �2� � -6��6$�)� 3!?1<72� 
 �+�'������  *� -6�� ���� �-'#�-#'��
�,,�$��-$ ��� *�-6��,' K��-$+��.�-'$�2��6� '�-$����� ,#��-$ ���$ � �=�1��0>�?(2

��K���"� 92� 3!?1;72� 
�� ,' )#�-��  *� � ������-$+�� .�-'$���2���-6�.�-$���� �' ���)$����  *� -6�

�.4'$)����6$� � ,6$����	 �$�-=�1?��<&!�<(:2

D$."� E292� ��)� W2� �2� 	=C��� 3!?1;72� ��� �@,�'$.��-��� �-#)=�  *� A��C� �'� )$�$-=� $�� 6#.��
, ,#��-$ ��2��6� '�-$����� ,#��-$ ���$ � �=�!:��!<:�!1&2

�Y,�%"��2�3!?;!72��' 4��.��$��	-�4���� ,#��-$ ���6� '=2��'$���- ����$+�'�$-=��'���"��'$���- �"
�92

X#$��"� �292� 3!?0!72� �6�� #���  *� ����$�� -=,�� �����-'#�-#'�)� . )���� * '� -6�� ,��$*$�� 6��$4#-
, ,#��-$ �2�X#��-$-�-$+��� ,#��-$ ���=��.$��"��2�2�
6�,.�����)��2�����#�$� 3�)�7"� &!1�
&>&2

	/��6�%"��2"��2��'�+ ���)��2��#��'�3!??<72��$���'�)$��'�-��. )����A$-6�)$**�'��-�-$.��������2
��-���$ -6� '�-$���>(��>;<�>1?2

	��%"� �2� ��)� �2� �'�+ � )�� ��� ��''�� 3!??072���'$�4���� ���'���-$ �� $�� -$.�� +�'=$��� )$��'�-�
�=�-�.�2���-���$ -6� '�-$���>;��&1(�&?12

	��%"��2���)��2��'�+ �)�������''��3!???72���'$�4�������'���-$ ��$����-$.��)$��'�-���$���'�. )��2
��-6�.�-$�����$ ��$������!<1��!!!�!>;2

	��%"� �2� ��)� �2� �'�+ � )�� ��� ��''�� 3&:::72� �$.�� ������� $�� �- �6��-$�� .#�-$'��$ ����. )���2
� ��$���'�����=�$��������� '�)��,,�$��-$ ���!��0?�!&&2

	��%"� �2� ��)� �2� �'�+ � )�� ��� ��''�� 3&::!72��$.�� ������� $�� �� � �� �#- � . #�� �$���'� )$��'�-�
. )��2���-6�.�-$����� )������)���-6 )��$���,,�$�)�	�$������3����,-�)72

	���-�"� �2� 3!?0!72� � ������-$+�� .�-'$���� ��)���'C +� �6�$��2� 	,'$���'���'���"� ��A� E 'C2
&1?,,2

	C����."�92�2�3!?;172�	��� ����,�'$ )$�$-=�$��-6� '�-$����, ,#��-$ ���� � �=2��' ���)$���� *�-6�
<-6���'C���=�	=., �$#.�$����-6�.�-$����	-�-$�-$�����)��' 4�4$�$-=�� �2�>��!1?�&:<"���$+2
 *�
��$* '�$���'���"���'C���=2


